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GCSE ART, CRAFT & DESIGN

Terms

Abstract Abstract art seeks to break away from traditional representation of
physical objects. It explores the relationships of forms and colours
Aesthetics Aesthetics is the branch of philosophy that is concerned with the
nature of beauty and taste
Assess nt Ob]eCt|VeS Aperture The opening through which light passes to expose sensitized
aterial or a sensor.
Understanding of historical and il
contemporary visual elements Composition Composition is the placement or arrangement of visual elements
of Arts, Crafts and Design. in a work of art.
Analyse and compare using the -
Contextual Formal Elements to Contemporary Art Embraces late 20th century contemporary art movements in
. demonstrate your painting, sculpture and architecture, as well as new media such
underStandmg understanding. as installation art, (including sound), conceptualism and video art.
Using a range of materials, Contrast Contrast is the scale of difference between dark and light areas in
AO 2 techniques and processes to images.
explore and develop ideas and
. intentions as your work Depth of Field The distance in front of the point of focus and the distance beyond
Experiment progresses. This may be in both that is acceptably sharp.
2D and 3D.
Exposure The amount of light that is allowed to reach the image sensor
Develop and record ideas which is controlled by the shutter speed and aperture setting.
AO 3 through drawing and Form Form is the aesthetics of recording in 2 and 3D
annotation towards a
. personalized outcome. Link
Recording all work to AOL and AO2 as Line Lines can be horizontal, vertical, or diagonal, straight or curved,
Ideas your project progresses. thick or thin.
Create and present a Macro Photography P.hotography producing photographs of small items larger than life
personalized outcome, size
4 realizing your intentions. Modernism Modernism is the term given to the succession of styles and
. movements in art and architecture which dominated Western
Presenting an culture from 19th Century up until the 1960's.
Outcome Photograph A drawing with light
Worth 60% of your overall
Coursework grade. Contains project Primary source Your own photographs/ drawings based on real objects
Portfoli work evidencing the four
ortrolio assessment objectives Sculpture To make or represent (a form) by carving, casting, or other shaping
above. techniques.
Worth 40% of your overall Secondary source Images form the internet, books or magazines
grade. Contains exam work
i evidencing the four - . .
Exam Portfolio & - Texture Texture is the perceived surface quality of a work of art.
assessment objectives
above.
Tone This could be a shade or how dark or light a colour appears

Timeline of Art Movements

Gothic

Neoclassism

Cubism

Surrealism Digital Art

Construclivism

t ((é'gf(f(lﬂgm) I Fauvism
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llll

1908 1910 1913 1916 1924

l Dadaism

Abstract Art

Renaissance Rococo Expressionism
(Classicism)

Impressionisim

1950 - 1958 1960 1978

Conceptual Art
Minimalism

Optical Art




GCSE PHOTOGRPAHY

Angle The position from one point to another

Aperture Used to determine how much light passes into the camera

Balance An equal or symmetrical composition

Composition The layout of an image, or placement of objects within a frame.
Contrast The difference in tones from the lightest tone to the darkest tone
Depth of Field The focus of objects based on distance

Detail The part of an image that might have otherwise gone unnoticed. Often

fine or small elements within an image.

Exposure The amount of light in a picture.

Focus The definition (or lack of) in an image. What the camera is aiming for.
What your eye is drawn towards.

Light The illumination of scenes or objects to be photographed

Negative Space The space around the object.

Positive Space The object that takes up physical space in the image

Rule of Thirds a guideline that places the subject in the left or right third of an image,

leaving the other two thirds more open. It divides a photo into nine
equal parts, split by two equally spaced horizontal and vertical lines.

Saturation The amount of colour in an image.
Shutter Speed The length of time that the camera allows light into its lens.
Viewpoint What the photographer sees from their position
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GCSE PHOTOGRPAHY

‘Move Tool
Marquee Tool
R Create new layer
Lasso Tool Work on separate layers simultaneously
“Quick selection tool
CropTool
Eyedropper Tool
“Healing Brush

Change Opacity

Adjust how transparent your image is

_Paintbrush
‘Stamp Tool

Eraser

~Blur Tool
Dodge Tool

Pen Tool
Text Tool

"Shape Tool

Ctrl + T = Free Transform

Ctrl + D = Deselect

History Brush

Paint Bucket Tool

Saturation:

Lightness:

R

[Ccolorize
F AL [ preview

g ce

Hue/Saturation
Adjust the colours in your image

Path Selection Tool

Holding Shift ﬂ = Keep Proportions

Ctrl + + =Zoom in
Ctrl + - = Zoom out

2| 1~ Channek | RGB

| @2

s

{§) Curva Display Options ———

&

Elshow Coping

Curves

Adjust the tones in your image enhancing the light

and dark areas and adding contrast and depth.

Black & White

Remove all colour
from your image

|:| Invert
% Swap the colours in your image k
| Brightness:
. 5 ! Contrast:
Image > Adjustmen | W prevew Levels
>R ; 1 T s .
= hinsbions Dluse Legacy Adjust your dark, medium
Brightn Contrast.,. SEEE s R e H
o es/Con : T R and light tones separately
Auto Tone Shift+Ctrt+L .
AutoContrast - - Alt+Shifts CileL :x‘:;’:u CutsM Brlghtness & Contrast
Auto Color Shift+ Ctrl+B Control how light your image is
- Vibrance...
Image Size... :
Canvas Size.. Hue/Saturation... Ctrl+t
) Color Balance... Ctrl+B. l ~ Channek | RGB
l(':'r‘:g" Rotation Black & White.. ~ Alt+Shift+Ctri+B It Levets —
i Photo Filte... e _—
Reveal Al Channel Mixer... . —m
Duplicate.., i;w:;n Ctele] - : T k
Apply Image... ostenze.. : ‘ | [@ Preview
. Threshold...
Calculations... .
Gradient Map..
Vasiables Selective Color..,
Apply Data Set... Shadows/F ." igh
T HDR Toning...
Variations..,
Desaturate Shift+Ctr+U
Match Color...
Replace Color...
Equalize




Ecology

Knowledge Organiser

Investigating Distribution

)

distribution of this species

Youwill:

APSUARNEI R AN RN NN AN S

Aim: To measure the population size of @ common species ina habitat and use sampling fechniques fo investigate the effect of a factor on the

ESTIMATING  FOPULATION

Si7E MEHOD |

H USE. TWO TAPE ‘MEASURES TO
TAY OUT A SURVEY >mm...a .
1a.g. 10m x40 mt N .xocm CHOSEN
HARITAT, SUCH-AS .D..m ‘SCHOoL,
FIELD:

_M_ CCOUNT - THE Z.imvw QF: YOUR “CHOSEN
PLANT SPECIES! fe.g. U}z_umEDzQ .2..)4
meﬂocza .Saﬂx_.z THIS DC%._..

| ESTIMATE THE: vo_uc_..)._- 3
UszmEozm N SUCm MCx<n<
bmm_P USING THE EQUATION:

40m

RECORD THIS NUMBER. IN A
RESULTS TABLE AND REPEAT
STEPS 1-3 UNTIL YOU HAVE
RECORDED THE NUMBER OF
YOUR CHOSEN: PLANT SPECIES

N 10 QUADRATS.

USE A m}znoz Zcz_mmm mmzm,wh&.ﬁm

TOTAL NUMIER
» OF DANDELIONS

ESTIMATED e e
POPULATION = -ialk AFEA
e AAEA SAMPLED

| TOTAL -SURNEY AREA
WAS W mEi0m

COUNTED

EACH QUADRAT 1S
Am e 4m AN .
10 .QUADRATS WERE
| PLACED

1o 4

Total 24

biodiversity _umwsncm_
alobal warmina

deforestation
pollution

biomass
peat boa

A |

"SET . YOUR: TRANGECT : UP-

+ Use aquadrat to estimate the population size of a plant species in a survey area
. Use atransect line and a quadrat fo investigate the effect of a factor on the 3c3_um1 of _u_nim in a survey are
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Ecology

‘Knowledge Organiser

s B | Levels of organisation | | ]

Feeding relationships within a community can be represented by food
chains.

Photosynthetic organisms that synthesise molecules are the producers
of all biomass for life on Earth, and so are the first stepin all food

-

chains. : : 4
all foodchains begin slugs-are primary. sparrows are:secondary hawks are tertiary
A range of experimental methods using transects and quadrats are with a producer, for ~ consumers—theyare . consumers ~theyare  consumers ~ they are
used by ecologists to determine the distributions and abundance of example, a green plant  herbivores that eat carnivores that eat carnivores that eat
different species in an ecosystem or alga producing glucose producers: primary consumers . secondary consumers

through photosynthesis

Consumers that kill and eat other animals are predators, and those

that are eaten are prey. r==—==----== Howmaterialsarerecycled }-—=-=======-=

All materials in the living world are recycled, which provides the

Apex predators are carhivores withho predators.
building materials for future organisms.
Organisms usually have more complex feeding relationships, with more ,
than one predator or more than one source. These can be shown ina

food web.

g Carbon Cycle

. . organic.compounds u
=" in dead organisms.

Water Cycle Q

R

T

-| Precipitation — as water droplets in clouds
get heavier they fall as.rain, snow, or hail,

Condensation - as moaist air rises it cools.
Water vapour condenses back into liquid
water droplets producing clouds.

§ vaes vapour *
) * Transpiration and respiration - loss
of water vapour from plants-and
e : Evaporation ~ The Sun heats the Earth's surface animals directly to the atmosphere.
organic noavoczam and water is turned from a liquid into water vapour,
X in consumers forming warm moist air.
) respiralion ° d decay m_mn B : _umnno_m:oz smﬁma Snx_mm
nvnwnu.fx returns COz 8/ ~ ecomposition~ /7 _ T . g
CO2z released as \ e B
the aimosphere "
N o B_Qoo_.mmn_mgm k

Q respiration it

A
COz'in the air and

photosynthesis .

dissolved in water, L= burning
removes COs from the perticularly oceans {combusticn)
environment
. __n,n. 4 SR biodiversity = carbon cycle  carnivore consumer deforestation - evaporation ;
Key terms . fvor ipitation  pr | |
T food chain  food web herbivore = precipitation predator  prey producer water cycle
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] | Global warming ]

Levels of carbon dioxide and methane in the atmosphere are increasing due to
human activity, contributing to global warming and climate’ change.

Global warming is the gradual increase in the average femperature of the Earth.
This scientific consensus is based on systematic reviews of thousands of peer-
reviewed publications. . ,

Global warming has resulted in

Biodiversity
Biodiversity is the variety of all the different species of organisms

(plant, animal, and microorganism) on Earth, or within a specific
ecosystem

High biodiversity ensures the stability of an ecosystem because it
reduces the dependence of one species on another for food or

habitat maintenance.

The future of the human species depends on us maintaining a good
level of biodiversity. Many human activities, such as deforestation,
are reducing biodiversity, but only recently have measures been taken
to try to prevent this.

Maintaining biodiversity
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Many habitats are currently under threat due to human activities
such as deforestation, climate change, and habitat destruction.

There are a number of ways inwhich scientists and concerned

citizens are trying to maintain biodiversity and reduce the negative

impact of humans on ecosystems, including

+  breeding programmes in zoos for endangered species

- protection and regeneration of rare habitats (e.g., national parks)

- reinfroduction of hedgerows inagricultural areas where single
crop species are grown, as hedges provide habitat for many
organisms

> government policies to reduce deforestation and carbon dioxide
emissions

+ recycling resources rather than dumping waste in landfill.

Waste Management

Rapid growth of the human population and increases in the standard

of living mean that r::ﬁ:m are :m_zm more resources and _%oQ:Q:m

more waste.

Waste and chemical materials need to be properly handled in order

to reduce the amount of pollution they cause. Pollution kills plants and

animals, and can accumulate in food chains, reducing biodiversity.

Pollution can occur

- inwater, from sewage, fertiliser run-off, or toxic chemicals (e.g.,
from factories)

« inair, from smoke and acidic gases

+ onland, from landfill and toxic chemicals.

deforestation
pollution

biomass
peat boa

biodiversity - biofuel
alobal warmina

w-.-...-......-..-.---....

rJ

large-scale habitat change and reduction, causinga decrease in biodiversity
extreme weather and sea-level changes

migration of species to different parts of the s\o«._n_ oimn.z:m mnom«ﬁ.wam
threats to the security and availability of food.

.......... energy absorbed by greenhouse
-7 Tl gases in the atmosphere

energy reradiated back to Earth

energy transferred from the Sun

energy reflected
N and transferred into space

Land use and deforestation

Rapid population growth has led to humans using much more land for building, quarrying,
farming, and dumping waste. This reduces the area inwhich animals can live and can
further destroy habitats through pollution.

For example, the destruction of peat bogs (areas of partially decayed vegetation) to
produce garden compost has decreased the amount of this important habitat, and the
biodiversity it supports. The decay or burning of peat for energy also releases carbon
dioxide into the atmosphere, contributing to global warming.

Large-scale deforestation in fropical areas has been carried out to provide land for
cattle and rice fields, and to grow crops for biofuels.

This has resulted in

large amounts of carbon dioxide being released info the atmosphere due to burning
of trees.

extinctions and reductions in biodiversity as habitats are destroyed

climate change, as trees absorb carbon dioxide and release water vapour.



Health and no..sacz_nnc_m Disease
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Communicable disease

tis

sues and cause illness.

A communicable disease is one causedby pathogens that can be passed from organism
fo organism. A pathogen isa microorganism that causes a disease. Examples of
pathogensare: bacteria, fungi, viruses andprotists.

Viruses live and reproduce rapidly inside an organism's cells. This can damage or
destroy the cells.
Bacteria reproduce rapi idly _:m_aw organisms and may produce toxins that damage

Pathogens can be spread in the air,water or by direct contact.

m\ .Spreadby .. .Sympfoms Prevenfion andireatment.
@ | inhalation of droplets ] +  painkillers to freat the
9 . ever symptoms
% | that are produced by . red ski h . hild
S | infected people red skin ras young children are
m sneezing and coughing «  complications can be fatal vaccinated to immunise
them against measles
- flu-like symptoms at first - antiretroviral drugs - are
Exchange of body fluids «  virus attacks the body's very damaging to the
~ | suchas: immune cells, which can body
M - sexual contact lead to AIDS - when the - barrier methods of
+  blood when drug immune system is so contfraception, such as
users share needles damaged that it cannot condoms
fight off infections. - using clean needles
- direct contactof .
plants with infected ) m:.omn_n pattern of
plant material iscolouration on the
>| . animal and plant mmo<®m ~ where chlorophyll
W vectors . is destroyed «  removing infected plants
. soil: the pathogen ¢ reduces plant's ability to
can remain in soil - vrﬂo&s}mm_mm\
\/ﬁo_; decades " affecting growth
o zea Spreadby Symptoms: Preventionandireaiment -
& Salmonella bacteria and the
> toxins they produce cause < poultry are vaccinated
§ | bacteria in or on food - fever against Salmonella
£ | being ingested - abdominal pains bacteria to control
fm < vomiting spread
« diarrhoea
g + treatment with
S | direct sexual contact - +  thick yellow or green antibiotics (many
< | gonorrhoea is a sexually discharge from the vagina antibiotic-resistant
S | transmitted disease or penis strains have appeared)
S| (sT™D) - painwhen urinating . barrier methods of
O contraception

organisms that spread disease by . canbe fatal
carrying pathogens are knownas vectors .

n_ﬂx@ Sttt S e s e _u_,m<m=¢o=n=a
rey
g - purple or black spots on leaves, which i [ -  fungicides
3 N Wat dwind turn yellow and drop early - affected leaves
&2 arer and win +  reduces plant's ability to ) rermoved and
= photosynthesise, affecting growth destroyed
ol e b L Preventionand -
o Spreadby o SYMRIOMS ol jreqtment
o | Mosquitos feed on the blood of infected . recurrent +  prevent mosguito
= | people and spread the protist pathogen episodes of vectors breeding
S | when they feed on another person - P - mosquito nets to
W fever

prevent bites
anti-malarial medicine

Controlling the spread of communicable disease

There are a humber of waysto preventthe spread of communicable diseases fromone

organismo another.

Hygiene ; Isolation _ Controlling
Hand washing, I 1golationof I Vectors
disinfectingsurfaces |1 infected 1 1favector spreads
and machinery, 1 individuals- | a disease,
keepingraw meat people, animals, | destroyingor
separate, covering and plants canbe controlling the
mouth when I isolated to stop ! population of the
coughing/sneezing. 1 the spreadof 1 vectorcanlimitthe
| disease. I spread of disease.

Vaccination
Vaccination can
protect large
numbers of
I individuals against
diseases. I cannot
I be usedin plants as
| they don'thavean
| immunesystem.

: <ann_=n:o= .=<o_<wm _z,_wni:m man_ | acni_jmm

9ﬂ amnn_ or _son._,_<m form of a' _ua;omms info:
S “the body -

Herd immunity

If a large proportion of a [
population is vaccinated
against a disease, the

disease is less likely to

._.:_m mr:t_n._.mm ?:ﬁ:onﬁmm *o _u_‘.o%nw i..a
correct osivom_mm *ow ipa u&.romo: B

spread even if there are
some unvaccinated

:& ividuals.

. noz,nﬁ. na.__uon__mm 8: vm u_,oa:nwn_ n:_nxz +o

Key -

_ Bacterium communicable disease funaicide

funaus herd immunity bathogen brotist sexually fransmitted disease (STD) toxin vaccination vector virus - §




Health and Communicable Disease
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Detection and identification of plant diseases ; ﬁ e .,_u._n:%awﬁm:nw_w o o

Sighs that a plant is diseased:
+ stunted growth ‘

« spots on leaves

« areas of rotf or decay

» growths

« maiformed sfems or leaves
» discolouration

+ pest infestation of f

Physical barriers

« cellulose cell walls ~ provide a barrier to
infection ;

» tough waxy cuficle on leaves

« bark on trees - a layer of dead cells that can fall

Ways of identifying plant diseases Chemical barriers

» gardening manuals and websites + many plants produce antibacterial chemicals
* laboratory testing of infected plants + poison production stops animals eating plants

+ testing kits containing monoclonal antibodies :
Mechanical adaptations

ST _m_n:ﬁm,mm...wnuwm o:.,n__.iwwnv._.w e w . thorns and hairs stop animals eating plants

Plant diseases can also be directly
caused by insects.

Aphids are insects that suck sap sharp . - leaves that droop curl when touched fo scare

from the stems of plants. This herbivores or dislodge insects
results in

+ reduced rate of growth
« wilting - ;
= discolouration of leaves. - some plants mimic the appearance of unhealthy

or poisonous plants to detfer insects or

) . r U-
Ladybirds can be used fo control erbivores
aphid infestations as ladybirds
larvae eat aphids.

~ Key - — _ — —
" terms : aphid mimic



Health and Communicable Disease
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Non-specific defences
Non-specific defences of the human body against all pathogens include:

Skin I' Nose ' Stomach

- physical barrierto I Ciliaandmucustrapparticle 1 Producessirong
infection | inthe air,preventingthem | acid(pH2) that

+  producesantimicrobial | from entering the lungs. | destroys
secrefions Trachea and bronchi produce i pathogensin

- Microorganisms that I mucus, whichis moved away mucus, foodand
normally live onthe skin I from the lungsfo the backof 1 drinks.
preventpathogens | the throat by the cilia,where

growing I itisexpelled. I
White blood cells
If a pathogen enters the body, the immune system tries to destroy the
pathogen. .

The function of white blood cells is to fight pathogens.
There are two main types of white blood cell - lymphocytes and phagocytes.

w

Lymphocytes fight pathogens in Phagocytes are attracted

two ways: to areas of infection.

o 2. The phagocyte surrounds
Antitoxins the pathogen and engulfs it.
Lymphocytes produce antitoxins that 3. Enzymes that digest and
bind to the toxins v_‘.O&ChNQ g,mo:ﬁ QNM+10< the ﬁD*TOQN: are
pathogen (usually bacteria). This released.
neutralises the toxins.

Antibodies

Lymphocytes produce antibodies that
target and help to destroy specific
pathogens by binding toantigens
(proteins) on the pathogen's surface's.

Sos pathogen

antibody antigen

phagocyte

lymphocyte antibody attached
to antigen

ﬁ_nm<,<_ Bacterium comminicable disease funaicide funaus herd immunitv pathoaen protist sexuallv iransmitted disease (STD) foxin vaccination vector virus ﬁ_
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Producing monoclonal antibodies

1 Mice are injected to stimulate the
production of lymphocytes that make
specific antibodies.

Lymphocytes make antibodies but
cannot divide to form clones

Monoclonal antibodies are produced from a single clone of cells.

™

2 Tumour cells are cultured. These cells
can divide and grow endlessly.

Tumour cells can divide to form clones

3 The lymphocytes are fused
with the tumour cells to
create hybridoma cells.

Asingle hybridoma cell can
divide to make a large number
of identical cells called a clone.

E Alt the cloned cells can make

the antibody.

4 Alarge amountof
the monoclonal
antibody can then
be produced,
collected, and
purified for use.

uY

protein antigen.

This means they can be used
target specific chemicals or

e

Research

]

1

I

1

1
Specific molecules |
can be located in !
cells and tissues !
by using :
monoclonal '
antibodies to bind |
them to a “
florescent dye. !
I

eatment

1

' Tp

1

1

4

' Monoclonal antibodies

! can deliver toxic

! chemicals and drugs

! specifically to cancer

I cells, limiting their

! harm to other cellsin

1
-”-

1

Monoclonal antibodies are specific To "
a single binding site on a specific “

to
cells.

Diagnostic testing

J

Monoclonal- antibodies can
be used to measure the
levels of a particular
chemical inthe blood or to
detect pathogens

{

Preghancy tests

Pregnant wotmen produce the hormone Inm\ which

is excreted intheir urine.
Menoclonal antibodies can be used to aﬁm& HCG

in a pregnant woman's urine:

1) Urineisappliedto the end Sn the stick

$

2) The tfest stick containsmonoclonal
antibodies that only bind HCG, attached to

a dye.

\ 4

3) If HCG ispresent in the urine, the monoclonal
antibodies cause a line of dye fo appear. This
means the pregnancy test is positive.

> 4

4) A second line appears in the control zone to
show the fest isvalid,evenif the result is

negaftive.

I reating diseases

Antibiotics

- Antibiotics are medicines that can kill _
bacteria in the body.

«  Specific bacteria need tobe treated 3
specific antibiotics

«  Antibiotics have greatly reduced deaths _
from infectious bacterial diseases, but |
antibiotic-resistant strains of bacteria |
are emerging. i

Treating viral diseases

- Antibiotics do not affect
viruses.

« Drugs that kill viruses
often damage the body's
tissues.

» Painkillers treat the
symptoms of viral diseases
but do not kill pathogens.

~ Discovering and developing new drugs -

New drugs are
extensively tested
and trailed for .

* Toxicity-isit
harmful?

» Efficacy - does it
work?

» Dose - what
amount is safe
and effective to
give

Stages of clinical trials

Pre-clinical trials

Drugistested incells, tissues, and live animals.

Clinical trials

1. Healthy volunteersreceive vary low doses to test whether the drugs issafeand

effective.

2. Ifsafe, large numbers of rma_ié volunteersand pati ents receive the drugs to find
the opfimum dose.

Peer review

1

Before being published, the resulis of clinical trialswill be fested and checked by
independentresearchers. This iscalled peer review.-

Double-blind trials

Some clinical trials give some of their patients a placebo drug - one that is known fo have

noeffect.

Double-blind trials are when neither the patients nor the doctors know who has been
given the real drug and who has been given the placebo. Thisreducesbiasesin ?w trail.

| torme |

BaCTeFM Commumicable disease ~fungicide TUNgus :m_d _33:3_2 vnﬂomms pro

PPYSPOTR | N

desmimmianldbndd A TN da e

]

P
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M et G = = i i ‘«w i |
- All substances are made of atoms. An atom is the smallest part of an Filtration Distillation Evaporation

element that can exist. : water out evaporatin|

. . . : ; filter paper Emzzoamaﬂiw

Atoms are very small, having a radius of about 1 x 10-1%m. The radius residue (sand) her e y condenser

of the nucleus us less than 1/10000 of that of the atom. r

In an atom, the number of electrons is equal fo the number of conical fiask

filtrate (water)

Proton
Neutron 1 0

Electron

Atomic Number and Mass Number

The number of protons in an atom of an element is ifs atomic number.
All atoms of a particular element have the same number of profons.
The sum of the protons and neutrons in an atom is its mass number.

Very small -1

Electronic structure

The electrons in an atom occupy the lowest available energy level. The
electronic structure can be represented by numbers or by a diagram.
For example, the electronic structure of carbon (above) is 2,4.

Elements, compounds an ture
Elements are substances that only contain one type of atom. These
are represented by chemical symbols, e.g. O represents oxygen.
There are about 100 different elements on the periodic table.

S

Compounds are formed when two of more different elements
chemically bond fogether, in fixed proportions. Compounds can only
be separated by chemical reactions.

Mixtures consist of two or more elements or compounds not
chemically combined fogether. Mixtures can be separated by

John 1808 Atoms described as
Dalton solid spheres
JJ 1897 PlumPudding model -
Thomson the atom isa ball of
positive charge with
scattered elecirons
Ernest 1911 Alpha Scattering -
Rutherford concentrated positive
mass in the cenire.
Atoms are mostly
empty space.
Niels Bohr 1913 Electrons are in shells
orbiting the nucleus
James 1932 Neutrons in the
Chadwick nucleus




Periodic table
Knowledge Organiser

In the mn1< 1800s, elements were E.S:mwa by atomic Em_mr._.m The vﬂ._on__.n table was :o.+,noa_u._®+m because some of the elements had not been
found and some elements were put in the wrong group.

Dimitri Mendeleev (1869) left gaps in the periodic fable to account for elements he thought had not yet been discovered. He'put them inorder of
atomic number. Elements with properties predicted were discovered and filled the gaps. The existence of isotopes supported ordering by atomic

number.

12 H 3
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Na Mg Al i Alkali metals include thium,’
The red step shows the ) - m ‘ sodium, potassium and W
divide between metals KiCa S| T |V |CMnFelCoNCuZnjGa i rubidium. They are all soft
and non-metals. Metals w ‘ ” ) _ ' reactive metals. The
are on the left and non- Rb mq Y | Zr|Nb|Mo|Tc Ru|RhPd}Ag E In reactivity increases as they
metals on the right. s Ba B T lwlirelos| vl ptl A Im 1 - go down the group. They get

: . _ . | bigger and it is easier for

Groups are the columns Fr |Ra | them fo lose and electron if
in the periodic table - .= : ‘ 'it is further from the

- nucleus. The melting and

they go downwards. The
=1 | boiling points become lower

group number shows the

number of electrons in L Zoc_w mnmmm include: . Halogens include: g - down the group. o
the outer shell. helium, neon and argon. = | fluorine, chiorine, w P
Elements inthe same - They are all non-metals a . bromine and iodine. 29 o
group normally follow . with low melting and & They areall non- 89 a s
the same trends in S boiling points. The boiling . =18 metals. The reactivity 5 m 23
properties. . points all increase as they | & | decreases as they go ST =41 3 Q
. . godownthe group due 10 geeem | o downthe group due to 3 1 38 :
Periods are the rowsin = greafer intermolecular o My s | 0 3
_are s | 2 an increase in difficulty g S 8 3 3
go sideways. Each _un-._oa + | They are colourless gases E o electron. The melting 5= 2.z
shows another full shell © i ' at room temperature. 3 and boiling points At < 55
H o, 5 e 3
of electrons. © 1 Group O elements are 3 | become higher down the o, -
- typically unreactive. SR group. v3 o 3
T, -t




The three states of matter are solid, liquid and gas. They can

Um_‘_wv1mmw:+ma :w_\% Emnolmn_w moamr _u.m:ﬁ__mo:a
spheres. elting vaporafion

393 _ ﬁ%wonmm © oo °

Xvw <4 O o O
sesesesesses Q
o0 eeees: % SO Op ©
Solid Liquid Gas
R A
Freezing Condensation

The amount of energy needed fo change the state of the
substance depends on the strength of the forces between the
particles. The stronger the forces between the particles, the
higher the melting and boiling point of the substance.

There are limitations to this model, due fo the following
assumptions:

+ No forces between the particles

+ Particles are all solid spheres

In chemical equations, the three states of matter are shown
as (s), (1) and (g), with (aq) for aqueous solutions.

When a metal atom reacts with a

non-metal atom, outer-shell electrons are shared between non-
electrons are transferred. Metal metal atoms. The number of

atoms lose electrons to become electrons shared depends on how
positively charged ions, whilst non- many extra electrons are needed o
metal atoms gain electrons to fill the outer shell. Covalent bonds
become negatively charged ions. can be represented ina number of

ways. )

b H o H
DEETEEE

Atoms forming covalent bonds form
different types of structures.

Nae + Gk —» ~2m_+ T@"_- .
281) (287 28 (288 @R
Ionic compounds are giant siruciure
of ions, held together by strong
electrostatic forces of atiraction : : o
between oppositely charged ions. Giant structures consist of billions
These forces act inall directions in of atoms covalently bonded
the lattice. These compounds have together. An example is diamond.
high melting and boiling points, as Smail Sn_mnc_wm contain only a few
large amounts of energy is needed to | | atoms. Different molecules are held
break the strong bonds. When in together by weak intermolecular

liquid or aqueous form, they can forces. Anexample is water.
conduct electricity as the ions are Large molecules contain many repeat
free fo move. . | units joined covalently ina chain,

)\ _Polymers are examples. /

xe

Metallic bonding occurs only in metals. Tightly packed
rows of positive ions are surrounded by a sea of
delocalised electrons which are free o move through
the whole structure. There are strong electrostatic
forces of attraction between the positive metal ions
and negative electrons. They have high melting and
boiling points. Pure metals are malleable (soft), as
the layers can slide over each other, so are mixed
with other metals to make alloys.

intermolecular forces. They typically can conduct electricity.

There are numerous carbon structures. Diamond and graphite are giant
covalent structures with very high melting and boiling points. Graphite
contains layers of covalently bonded carbon atoms. Between the layers, there
are ho covalent bonds. This means the layers can slide, making graphite soft.
Graphite can conduct electricity due to delocalised electrons. For diamond,
the carbon atoms have a rigid structure, making it very hard. Graphene
consists of a single layer of graphite. Fullerenes exist as cage-like
structures and tubes, where molecules are held fogether by weak




'The rate of reaction ishow quickly the reacta
‘of reaction can be determined by:
. quantity of reactant ised OR quantityof product formed

. time taken time taken
‘Practically this can be determined from measuring how the mass of the reaction
.changes, the volume of gasgiven of f fromthe reaction or the changesin the

-colouror turbidity of a solutionwhen a solid precipitate is produced

Mean rate of reaction =

The reactants are placedinaconical
flask on a balance. As the reaction
proceeds the gaseousproductis

given of f and the mass of the flask
decreases.

The reactants are placedina conical
flask, whichisconnectedto agas
syringe of upside down measuring

cylinder. As the reaction proceeds,
the gasiscollected.

te from a graph

q p

““\vilims of gas prrducad

The reactants are placedinaconical
flask, whichisplacedon top of a
cross. As the reaction proceeds the

solid precipitate is produced
eliminating view of the cross.

| For a reaction to occur, the reactant particles need fo collide with sufficient
_energy to react. This amount of energy is called the activation energy. The rate
1 of a reaction can be increasedby: increasing the frequency of collisions and

Particles gainmore kinetic energy, move faster
. ; - and therefore collide more frequently, withmore
H , DR .. energyso more collisionsresultinareaction.

Impact on rate of reaction

Increasing the conceniration of solution  There are more reacfant particles therefore
reactants ... more frequentcollisionsoccur.

p_.r.mww is less space between the particles,

i Increasing the pressure of gaseous 5, SO

{ ‘reactants-... R more frequentcollisionsoccur. :
Increasing the surfaceareaof solid Only reactant particles at the surface of asolid
: are able fo interact and collide with another

reactants ... )
; reactant, so.a larger surface area leads to more

frequentcollisions occurring.

: Catalysts speed up the 3
reactionwithoutbeing
used up in the reaction.
They providean
alfernative pathway
that has a lower
activation energy.

; produce the original reactants. Thisisa

| reversible reaction. We use this symbol: = |
If carriedoutina closed system, iy
equilibrium can be reachedwhere >D .
i the forwardand reverse R/

| reactionsoccurat the same rate.

B
g

p—

| To move from equilibrium,and o change the amountof reactant and'product, the conditionsof

‘ the reaction must be changed. Le Chatelier's principle states, that withina closed system, the
system will work to oppose or counteract the change by favouring either the forwardor the

- reverse reaction. Conditions that can be changedare: concenirationof the reactants or

products, femperature of the system or the pressure of the system.

Concentration - When the conceniration of a substrate isaltered, the system will oppose the
change. For example, if the reactant concentrationisincreased, the forwardreactionis
favoured, lessreactant is available and more product ismade.

Temperature - When the temperature of the system isaltered, the system will oppose the
change. For example, i f the temperature of the system isincreased, the endothermic reactionis
favoured, resulting in the surrounding temperature fo decrease.
Pressure - When the pressure of the system isaltered, the system will oppose the change. For
~example, if the pressure of the system isincreased, the reactionwill favour the directionwith

* fewermolecules, resulting in a decrease in pressure.

increasing the energy of particles when they collide.
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Key <ono_u_.__91<
Kinetic energy-Energy of a moving
object due to its motion. Joules, J
Mass-The quantity of matter inan
object. Kilograms, kg

Elastic potential energy-Energy stored
in an elastic object whenwork is done to
change its shape. Joules, J

Spring constant- The stiffer the spring
the greater the spring no:m#_:._, Newton
per metre N/m

Extension- The increase in length from
the original length. Metres, m
Gravitational potential energy-The
energy of an object due to it's positionin
a gravitational field. Joules, J
Gravitational field strength - The force
of gravity on an object-given in your
question. Newton per kilogram N/kg
Power- Energy transferred every
second. Watts, W

Work done- Energy transferred by a
force. Joules, J .

Specific heat capacity- Energy needed
to increase the temperature of a
material by 1°C when the mass is 1kg.
J/kg°C

Efficiency- Useful energy transferred
by a device/ total energy. There isno
uhit- answer should be a number less than
1. If you have multiplied your answer by
100 you have changed it into a
percentage.

System- an object or group of objects.
An open system- energy is fransferred
between stores or to the surroundings.
A closed system - ho energy can escape
to or enter from the surroundings. The
total energy in a closed m<m+®3 never
changes.

Kinetic

Energy an object has because it is moving

Gravitational

Energy an object has because of its height above the

potential ground

Elastic Energy an oENQ has when it is stretched of compressed

potential ;

Thermal (or Energy an object has because of its temperature ( the

internal) total kinetic and potential energy of the vol_n_mm inthe
object)

Chenical Energy that can be transferred by chemical reactions
involving foods, fuels and the chemicals in batteries

Nuclear Energy stored in the nucleus of an atom

Magnetic Energy a magnetic object has s}m: it is near a magnet or

ina magnetic field

Electrostatic

Energy a charged object has when it is near another
charge object

The kinetic energy of a moving
object can be calculated using the
equation:

+ kinefic energy = 0.5 x mass x
speed ?
« Ek=1/2 m V2

kinetic energy, Ek , in joules, J
mass, m, in kilograms, kg
speed, v, in metres per second,

Energy can be transferred to and from different

stores by:

Heating - g.p.e.
Energy is transferred from one object fo another height
object with a lower temperature. - Ep=mgh

Waves

Waves (e.g. light and sound waves) can fransfer
energy by radiation.

Electrici

When an electric current flows it can fransfer

energy.

Forces

Energy is transferred when a force moves or

D T o S I S L L TP

kilogram, N/kg

The amount of gravitational potential energy gained
by an object raised above ground level can be
calculated using the equation:

= mass x gravitational field strength =

gravitational potential energy, Ep, in joules, J
mass, m, in kilograms, kg
gravitational field sirength, 9, in newtfons per

(In any calculation the value of the gravitational field
strength (g) will be given.) height, h, inmetres, m

N
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Power is defined as the rate at

which energy is transferred or

the rate at which work is done.

+ power = energy fransferred
/time

- P=E/t

« power = work done /time

- P=W/H

power, P, in watts, W

energy transferred, E, in joules, J

time, 1, in seconds, s

work done, W, in joules, J

An energy transfer of 1 joule per

second is equal o a power of 1

watt.

—

The amount of energy stored in or
released from a system as its
temperature changes can be
calculated using the equation:

+ change inthermal energy = mass x
specific heat capacity x
temperature change

« AE =mxc xA6

change inthermal energy, AE,in

joules, J

mass, m, in kilograms, kg

specific heat capacity, ¢, in joules per

kilogram per degree Celsius, J/kg °C

temperature change, AB,in degrees

Celsius, °C

The specific heat capacity of a

substance is the amount of energy

required o raise the temperature of
one kilogram of the substance by one
degree Celsius.

Elastic energy:

The amount of elastic potential

energy stored ina stretched spring

can be calculated using the equation:

« elastic potential energy = 0.5 x
spring constant x extension ?

+ Ee =1/2 ke?

(assuming the limit of proportionality
has not been exceeded)

elastic potential energy, Ee, in joules,
J

spring constant, k, in newtons per
metre, N/m .
extension, e, in mefres, m

WYV

M

Work done= energy transferred

force x distance
moved in the
direction of the
force

work done =

Energy cannot be created, or destroyed-it can only be transferred
usefully, stored or dissipated.

Dissipated energy means it transfers fo the surroundings: this is often
described as being wasted. _

; energy transferred
total D , by light waves
input / /-
energy : : energy
transfer transferred fo the

‘ thermal store of the

N

surroundings

All energy eventually ends up transferred to the thermal stores of the
surroundings.

Lubrication is a way of reducing unwanted energy transfer due to friction.
Streamlining is a way of reducing energy wasted due to air resistance or
drag.

Insulation is a way of reducing thermal energy fo surroundings.

Efficiency is a measure of how much energy is fransferred usefully. You
must know the equation to calculate efficiency as a decimal:

useful output energy transfer (J)

eieney = talinput energy transfer (J)
- or | 2
~ . useful power output (W)
.m%nﬁ:o% ~ totalpowerinput (W)

To give efficiency as a percentage you multiply your decimal by 100 and
add the % sign.
NEVER add the % or J to your decimal!
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Key vocabulary:

|ﬁ/o|l switch {open)

—0—~0— switch (closed)

Potential difference - the work done in moving
one coulomb of charge from one pointin the
circuitfo another.

Current - a flow of elecirons. B cel
Charge - the rate of flow of electrons.
+

- hattery
Resistance - the opposing of a current. IT _T
Power - how much energy is fransferred (work ]
done)ina certainamount of time. I®| diode
Series - all components inacircuitfollow on
directly from eachother. — 1 resistor
Paralle! - the current has alternate pathwaysto
possibly take inacircuit. |&I variable resistor
Free (or delocalised) electrons - electrons that y
are free fo move through the conductor(eg / ED

metal).

Key equations:
Q = It (charge= currentx fime)

V=IR (potential dif ference= currentx resistance)

Total resistance =R1 +R2

|®| tamp

——— fuse

\@l voltmeter
l@l ammeter
\ﬂ\ thermistor

N
.|mmwu._om

Eleciric fieldswill always run frompositive
to negative - shown by arrows. The
greater the number of arrows,the

Series circuits - all components follow on
directly from eachother. The currentonly
has one pathway fo follow.
The current is the same all the way around
a seriescircuit. Thepotential differenceis
shared between the components in the
circuit.
Parallel circuit- the eleciricity has more
than one pathway to take. The currentwill
take the path of least resistance.
The current will be shared between the
branchesin the circuit. The potential
difference will be the same across each
noa_uosm:j nthe circuit.

Resistance - caused by the collision between
free electrons and metal ions. The more
collisions the greater the resisfance.

" Factors that canaffectresistanceare:

+ Length - double length, double
resistance: di 1wn+_< proportional

» Temperature - increase femperature,
increase resistance

+ Diameter- bigger diameter, less
resistance

+  Material - number of freeelectrons

Fixedresistor at

constant

temperature - Cument
Ohm'sLaw.R=V/L.
Direcily

proportional. Potential

. difference
Diode - no current ere

until certain
potential
difference.
Current rapidly
increases. Very
highresistancein
negative bias. O=_<
allows currentin
onedirection.

Current

Potential
difference
Figure 1

Current

Filament bulb -
bulb gets hotter,
so linecurvesas
resistance
increases.

Potential difference

P = VI (power=potential difference x current)

P= I x I x R (power=currentsquaredx
resistance)

E=Pt (energy fransferred=power x time)

m QYV (energy transferred=charge flow
potential difference)

Key Units:

Current-Amps (A)

Potential difference-volis (V)
Charge-coulombs (C)
Resistance-ohms (£2)
Power-watts (W)

Energy transferred-joules (J)

~ . .. P oot - - [

stronger the electric field.

Like charges - the fieldlinesshowagapin
the electric field.

Unlike charges - filed linesmove from + to

Static

Static is caused because of friction
between two insulafors resuliing in the
transfer of electrons.

Object gainselectrons- objectis
negatively charged.
Object loses elecirons - object is
positively charged.

If there isa build-up of charge and the
potential dif ference between fwo objects
isgreat enough,a sparkwill ' jump’ - this is
a discharge of electriciiy.

The objects do nothave o be touching-no
contact needed foratiraction / repulsion.

The National 6rid: asysfem of
transformers (step up and step down)and
cables.

Cables can be overhead or underground.
Electricity transmitted at highvoliage, low
current inorder to reduce heat loss from
the cables. Less energy is wasted

Hammafama ikmmalian Han Nnkanal Zaldvnans

Earth Wire - ™ Live e
Neutral Wire — Fuse
Cable grip

Plug case - plastic / rubber electrical

insulators

Pins- brass hard wearing conductor of
electricity

Wires - copper flexible conductor of
electricity. Coatedin coloured
plastic(insulator of n_nn#_ city)and
identification.

Earth wire (green Yellow) - m&@?
(pd=0v) -

Live (brown) - carries current
(pd=230V)

Neutral (blue)- no_‘%_ﬁmm circuit(p.d.




Amrangement of Close together Close together Far apart
parficles
Regular pattem Random arrangement  Random ariangement
Movement of particles  Vibrate on the spot  Move around each Move quickly in alt
other directions
Diagram 000000
% 0990
9090
99999

RAowieage wurganiser rarricie viogeroriviatier:

States of matter—whatforma substance can exist
as.

Solid — regulararrangement of vibrating particles
with strong forces of attraction. Fixed shapeand
volume. ,

Liquid— random arrangement of slowly moving
particles which have weak forces of attraction.
Takes theshape of the container. Fixed volume.
Gas — random arrangement of quickly moving
particles which have negligible (no) forces of
attraction. Volume can be changed (gasescan be
compressed). No fixed shape—fills container.
Melting — changing state fromsolid to liquid.
Evaporating / boiling / vaporisation—liquidto gas.
Condensation—gas to liquid.

Freezing / solidifying— liquid to solid.
Sublimation—solid to gas.

Meting point —the temperatureat whicha solid
becomes a liquid.

Boiling point — the temperatureat whicha liquid
becomes a gas.

Freezing point —the temperature at which a liquid
becomes a solid.

Density — the amount of massin agiven volume.
Density =mass +volume.

Latent heat —the energy transferred to or froma
substancewhenitchanges state.

Spedcific latent heat —the energy required to
changethestate of 1kg of a substance withoutan
increasein temperature.

Specific Heat Capacity — the energy required to
changethetemperatureof 1kg ofa substanceby

A~

_
Density required practical
Densityis the mass per unitvolume of
anyobject. Itis calculated by dividing the
mass ofanobjectbyits volume.

heating

melting ___ melting

point

solid

boiling _/gas

Changing state:
Red arrows —more energy {hotter).
Forces ofattraction getting weaker.

Blue arrows—lessenergy (colder).
Forces ofattraction getting stronger.

time

i kA AR R SR A

Changing state:

Inthe graphshowingthechangein
temperature of a substance being heated
orcooled, the flat horizontal section
shows when the substance is changing
state.

The energytransfers taking place during a
changein state donotcause a changein
temperature but dochange theinternal
energyofthe substance.

melting

P
e

freeving

solid

Density = mass / volume

(kg/m?) (kg) (m3)

Regular object (e.g.cube)—usea rulerto
measure length, width, height. Multiply
these 3valuestogetherforvolume. Use
electronicscales to find mass. Use
equation to calculate density.

Irregular object. —use electronicscales to
find mass. Submerge object under water
ina displacement can. The volume of the
waterdisplacedis the volume of the
object (EUREKA!). Use equationto
calculate density.

Liquid —~ Measure the volume of the liquid
in a measuringcylinder. Use electronic
scales to find the mass of the empty
cylinderandthenthecylinderandthe
liquid. Subtractto find the mass of the
ligquid. Usethe densityequationto
calculate the density.

Specific Heat Capacity— the energy
required to change the temperature of
1kg of a substance by 1°C.

Energy=mass XSHCXtemperature
change

Energy (J}
Mass (kg)
SHC (J/kg°C)
Temperature (°C)

Specific latent heat — the energyrequired
to change the state of 1kgof a substance
withoutanincrease intemperature.
Specificlatent heat of fusion ~solid to
liquid

Specificlatent heat of va porisation—
liquidto gas

Energy for change of state = mass x SLH

Energy (J}
Mass (kg)
SLH (J/kg)

Gas Pressure — produces a force atright
angles to the wall ofthe container.
Fora fixed massof gas ata constant
temperature:

pressure X volume = constant

Pressure (Pa;pascals)
Volume (m3)

Work s the transfer of energybya force.
Internal energyis the total kineticand
potential energyof all the particlesina
system.

Doingwork onagas increases the
internal energy of a gas, so temperature
increases: i

Particle motion ina gasisrandom (i.e.
particlesmove indifferent directionsata .
range ofspeeds)

The temperature of a gas is related to the .
average kineticenergy of the molecules.




Unit R0O38: Principles of engineering design
Communicating design outcomes
3.1 Types of drawing used in engineering

Freehand sketching

[0 €N gin<en

Isometric

Freehand sketching *  Assembly drawings
Isometric e Blockdiagrams

Oblique *  Flowcharts
*  Circuitdiagrams
¢ Wiringdiagrams

Orthographic drawings
Exploded views

¢ Products aredrawn freehand to increase the speed of
communicating ideas

* Basicbuilding blocks are crated out using construction
lines

* Proportions (size relationships) are calculated by
comparing features

* Cratedshapes are defined (further detail added)

* Drawingisthenrendered{shade, colour, texture,
tone)

¢ Drawingcanalsobe emphasised using thick and thin

* A2ddrawing oftenreferredto as anengineering or
workingdrawing.

¢ Drawingwill different elevations ofa 3d productin 2d
—the end, frontorplan (top) view

* Drawings will bedrawnto scale and canbe measured

E + Plan
: v ¢
o [ A

'

X

End Frontelevation | X
1 H k]

i

elevation ! [
Pian | Frontelvaon  Eng

: elevation

First Angle Projection | Third Angle Projection

Cle

|sometric drawings have no perspective

Theycan be drawnto scale, measuredand usedin
manufacturing

Horizontal lines are drawn at 30 degrees

Vertical lines withina product remain vertical within
the drawing

Third lines are used to make the product look hollow
Thick andthin lines can be applied to emphasise a

PSP

Exploded views

Parts ofa product are ]
separated within the drawing .
to show how theyinteract and
go to together

Specific line conventions are
used to show the relationship
between parts

Drawing can be quickly created
in CAD to enable designers to
visualize how components will
interact to allow themto
further develop/refine ideas
Also often used as a assembly
line aid for workers and in
instruction booklets for the
end user

Oblique drawings have no perspective

Theycan be drawntoscale, measuredand usedin
manufacturing

Horizontal and vertical lines within a product remain
two dimensional

The sides/depth of the product is drawn ata 45 degree
angle

ine are generally parallel
Z

Assembly drawings show how parts go togetheror

interact/meet.
._.—._m< can bedrawn 24 {rrace cortinnl aravninded




The structure of the hospitality and
catering industry

Types of service

- E?S.ae_avvicnui!o:w._:o?
‘customers table by walting staff

»  Gueridon[trofiey or moveable service]: the
customer's food is cooked atthe table, usually
for draenatic effect, for example flambéed.

Steaks and crepes.

Ready-to-at food or i the streetorina
publcplace, s 15 macketorfetial,

- ) .chai_:
oy achet S.%a.nsia:iu

. themselves tovegetables, sauces and gravy.

Fastfood 1o ordervary quickly betaken

awayfrom it and
tables are often provided.

Cofeteria  Sralland inexpensive restaurant of coffee bat,

. sening lightmeals and refreshments -

‘Tokeawny Takesway restairants ((for example Chinese, Indlan,

pizzaytake an order and dethwerthe food tothe
customer’s home; customess can also order atthe
restaurant 3nd then take the food away 10 eatit.

Transpoit iety
catering planes and ships.
Hotel

945*2&. different buffet styloes Include:
Sit-down buffers oace the customer has chasan
their food from the buffet, they can sitdown ata
table toeatit

o

4 this alk

theirfood,
guests tocirculate and meet other guests
* " Finger tobeeaten
withfingers 9&855»:»& fora knifeand forky;
g!miaa_fzs.«z:.&»u&go-:

Automatic Drinks and Evmn are storadina 3»&55 i_B.u glass.
vending maan and EE%#.&X%ES%E%
where

amgiugﬁﬁgrﬁﬁﬁg tofood,
for samples colleges and hospitals

able o5 trains,

Provides ovemight accommedation and food and drink
options.

Many hotels eﬂn« breakfast, 2-._..6 S-u_r bar snatks,
funch, 0 your
room); budget hotels usually have 3 skmpler offering

Bedand . OFf r ofts
breokfost . - thesaare i d

guests; ly ina
dining room ot the gwners kitchen

3. Standards and ratings

Food hygiene standards

The Food standardsagency runsa
scheme with local authorities where
they score businesseson a scale
from zero to five to help customers
make an informed choice about
where to eat. The rating is usually
displayedasa stickerin the window
ofthe premises. The scores mean:

‘Non residéntial’ Hospitality at non-catering venues
mOB:hanmm,_. Contract Caterers
establishment provide: . .
; S ¢  food for functions such as weddings, banquets
and parties in private houses.
° prepare and cook food and deliver it to the
venue, or cook it on site.
o They may also provide staff to serve the food, if

Restaurant standards

The three main restaurant rating systems
used in the UK are Michelin stars, AA Rosette
Awards and The Good Food Guide reviews:
Michelinstars are arating system used to
grade restaurants for their quality:

One starisa very good restaurant

Two star is excellent cooking

naiimﬂ_m_

( .. .Accommodation, house ' Hotels, guest houses, campsites; requ ired. Three starsis exceptional cuisine
residential xmmm?@ food, wm.<w_dmmm. vmu w:n breakfasts, holiday uw}m E Com U_ ete caterin gs olutions for works canteens
€C eort q .

; fadilities : o S ; etc AA Rosette Awards score restaurants from
Commercialnon- Food and beverageto eat 1ts, cafes, tea rooms, one (a god restaurant that stands out from
residential in ortake mﬁmu. mmmwms Sm»» mwﬂum. fast *Sm owun_ow. Unit 1 The H lity and G . the local competition) to five {cooking that

sit to eat and drin pubs and bars, street and pop ;L‘ nit e Hospitality and Catering Industry . ;
up restaurants, mobile vans ujjec .01 Understanding the environment in which hospitality compares withthe bestin the world)
Non-commercial - Accommodation, food and . Hospitals; care homes, prisons, = - and catering providers operate . .
residential - beverages T &ama forces, voﬁ&:wﬂ%oo_w cbac AC 1.1 The structure of the hospitality and catering industry The Good Food Guide gives restaurants a
) . colleges, universities.. = score from one (capable cooking but some
Non-commercial  Food and beverag C in offices, %f% inconsistencies) toten( perfection)

centres, schools and nurseries,
charity food suppliers, for example
soup kitchen

non-residential

andratings Environmental standards

% ONESTAR ] Hotel and Guest house The Sustainable Restaurant U

B - Association awards OUR 14 KEY
o : standards FOCUS AREAS
T 1 o Hotels and suest houses restaurants a one-two-three

KK TWO STARS sovmmenn. g star rating in environmental saurcing

(xu..\é:b.u.::- o
[

Sk THREE STARS <o
2 weramen e
I+

T e i

t### FOUR STARS e,

) o foivetiutn (R

e g s

R
At e e
B =

Ak K Al FIVE STARS s s
B o eI
- 1ol =
2 -

R veimcrinieng
E2 wverecinpesitn i

are often given a star
rating. Starratings help
customers to knowwhat
services and facilities they
canexpectata hotelor
guesthouse. The quality of
the service provided is
rated ona scaleofoneto
five stars

standards. To achieve this
the restauranthas to
completean online survey
about sourcing, society and
the environment. Itisthen
given an overall percentage
for environmental standards:
One star: 50-59%

Two star: 60-69%

Three stars: more than 70%

8000

AHe  IDMER Dveomr Wmmexls  Ter
Semorut - ADary  Rmbwfaves  fo oo




AC 1.2 Jobroles in the Hospitality
and Catering industry

4. Job roles in the

. ]

oo Bar ...Restaurant. Housekeeping
Head bar person ‘Manager Housekeeper
Barmen/maids ‘Supervisors ‘Chambermaids
Waiters
. Winewaiter
o ;&E.m:, : . Front-of-house staff
Head chef o nmowvmm
Sous chef * Porteri/concierge
Chefs de partie )
Commis. chef
Kitchen porter

5. The Kitchen brigade- Back of
House

6. Front of _._o:mmA_\o_mm

Reception

Receptionist: meet customers anddirect themto the correct
person or place; they manage visitor lists and booking systems
Porter/ Concierge; assist hotel guests by making reservations,
booking taxis and booking tickets for local attractions and
events.

Restaurant and bar
Restaurant manager {Maitre d’Hote): The restaurant manager is
in overallcharge of the restaurant,; they take bookings, relay
information tothe head chef, complete staff rotas, ensure the
smooth running of the restaurant
Head waiter (ess): Second in charge of the restaurant,. Greets
and seats customers, relays information to the staff, Deals with
complaints and issues referred by the waiting staff.

Waiting staff Serve customers, clear and lay tables, check the
customers are satisfied with the foodandservice. May give
advice on choices from the menu and specia! orderfoods

Wine waiter-Le sommelier: Specialisesin all areas of wineand
matching food, advises customers on their choices of wine, Wine
waiters serve the wine tothe customer and can advise customers
on their choices as well

Bar staff serve drinks and take food orders, wash up, clear
tables, change barrelsand fill shelves.

Baristas make andserve hotand cold beverages, in particular
different types of coffee such as espresso, cappuccinoand [atte.

8. Traini

xm.< stage's school
courses
Post26-19 .

Universities

Apprenticeships

In-house .Qmmrn:u

w %mﬁ LO1 Understanding the environment in which hospitality 54 £
cbac

fo m Unit 1 The Hospitality and Catering Industry

and catering providers operate g
AC 1.1 The structure of the hospitality and catering industry [=id

s 2o v

Waiter/wa it

Head che
Sous chef
I 1 Il 1
Pastry Larder Sauce Vegetable
chef chef chef chef
Commis o:ml
Kitchen assistant A Stock ‘ Kitchen porter
controller

Most large establishments could have chefs de partieinthe

following areas:

. Sauce chef-Le Saucier

. Pastry chef- Le Patissier- baked goods and dessert

. Fish chef- Le Poisonnier

. Vegetable chef-L’entremetier

. Soup chef- Le Potager

. Larder chef- Le garde manger- cold startersandsalads

. The commis chefor assistantchefisa chefintraining

. The kitchen porterwashes up and may do basic
vegetable preparation

. The stock controller is in charge of all aspects of store
keeping andstockcontrol.

. Hotel Management

Head executive chef £36,613
;_vmm¢< chef nwo.wwo;
Imcmm_amvmq mﬂ:owm
Receptionist - £22,596
Porter « £17,718
Waiting and bar staff £16,735 :
Ea.nsm: staff £16,556

inthe
industry

7.Average

£37,310

ress

Receptionis
t

Housekeep
er

Head Chef

Commiis .
n:mﬁ

These vSsnm voa: work experience and training

ng

Types of raining -

Level ¥%Vocational award in Hospi and Catering

Colleges offer many courses for those leaving school after Year 12, for example:

« Certificate in Hospitality and Catering Level 1
+ Certificate in Introduction to Culinary Skills Level 1
« Diploma in Introduction to Professional Cookery Level 1

Diploma in Professional Cookery Level 2
Universities offer degree, HND and HNC courses in subjects such as:.
« -Catering

Hospitality

Cylinary Arts

* Hotelmanagement:

Food and beverage service

On-the-job training provided by the organisation you work for

Patience

Team player .

Attentive listener, good memory, clear:
communicator, diplomatic, caimand
-assured, high level of focus and
attention, multitasker, can work in 2
team, physical stamina, courteous and
polite, hardworking.

Professional, positive attitude and
behaviour, clear communicator, helpful,
an work in a team, courteousand polite,
can learn skills quickly, calm, composed,
approachable.

Physical staming, tactful, diplomatic,
calm, courteous and polite, good
memory, can work in ateam.
Organised, able to acceptcriticism,
physical stamina, creative, attentionto
detail, can handle highly stressful
situations, passion for food and cooking.

Attentive listener, clear communicator,
‘canwork in a team, passion for food and
- cooking, physical stamina, creative. -

Extended
reading

Revision
Techniques




Topic area 1 - life stages Factors affecting growth and development across

Adolescence 11-18 the life stages

Start secondary school * Physical factors
Topic Overview Study towards GCSEs * Social factors
On our journey through the Ability to think abstractly + Emotional factors
stages of life we experience Go through puberty * Economicfactors
many life changing events and Puberty canimpact moods and emotions * Cultural factors

Growth spurt * Environmentalfactors

are influenced by many factors
that affect growth and
development.

Spend more time with friends Physical factors — diet and nutrition, activities, lifestyle

choices (alcohol, smoking), genetics, physical and
H mental health, disability, sensory impairment.

Social factors — positive and negative relationships,
social inclusion/exclusion, opportunities, discrimination
bullying.

Emotional factors — anxiety, fear, sadness/ happiness,
grief, attachment, family security.

Key Definitions - : : B
Human Growth: an increaseina 2 «"Rm_;_mmf Baindevelopmentlearning a newskill
person's physical size or 'mass’ -
Development: complex
changesinskillsand abilities.
Milestones: an ability that most
childrenwillreach by a certain

age.
Fine motorskills: movements
that involve the smaller muscles

Topic area 2 Impact of life events Topic area 3 - Sources of support
Expected and unexpected life events Sources of support
Physicalevents * Formal - hospitals, health centres, care homes,

inthe body . . . L
Gross motor skills: Larger muscle Examples of m:ﬁ._nm_ events may include: accident/injury, ill day centres, children’s services, hospices, respite
movements | health, genetic disorders, puberty, menopause. care, rehabilitation centres (addiction orinjury)

Relafionship changes. » Informal - family/friends, religion/culture.

Examples of relationship changes may include: starting/ . ... .
ending relationships, divorce/separation, parenthood, nJm::mm _.Nm_.mHP m_jmm_,_o_,mmo_\ Cruse, Age UK,
Mind, specialist charities

bereavement. F= R
How practitioners meetindividual needs

Examples of lifecircumstances may include: school * enable/promoteindependence
* medical/mental health support

starting/changing/exclusion, redundancy,
imprisonment, retirement, bankruptcy. * care support

Life event: Anincidentor
experience that has a major
effectonan individual’s life and
personal development.

Formal services: Care services
provided by care organisations
and by self-employed

professionals.

* respitecare

Informal care: Care providedtoa ﬂ:ﬂm__“ﬁ_cm_ . ::m.sn_m_ mc_o_o.on
client by family, partnersorclose . Emotional * advice andguidance .
friend i Examples of practitioners may include: GP, nurse,
rends. * Social . . . . .
« Financial midwife, specialist doctor, physiotherapist, dietician

[dentifyingindividual’s needs based on the impacts of life

oviant

social worker, counsellor, occupational therapist,

health care worker, physiotherapist, charity workers
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‘What causes m.uouﬂ&no
_ and discrimination?

Rosa Parks
. Rosa decided to make a stand.

UPBRINGING -
families passon
prejudice to the next
generation who know
no better.

EXPERIENCE - a
negative experience
with someone from a
group may cause them
to view everyone the
same way.

SOCIAL NORMS ~
people are influenced
by their social circles
and adopt similar
prejudicial views.
FEAR - people may feel
threatened by certain
groups or individuals
because of
preconceived attitudes
and treat them
negatively as a result.
MEDIA - power
influence that can

promote and reinforce
negative stereotypes of
a particular group or
individual.
IGNORANCE —alack
of education or
choosing to ignore their
education on the need
for tolerance of others.

VICTIMS - a group or
individual may have
prejudicial views
because they have been
victims of it themselves.

Together with her husband
Raymond, she joined the National
Association for the Advancement of
Coloured People (NAACP), working
towards putting an end to
discrimination and segregation.

But it was on the 1 December

1958 that Rosa truly sparked change
when she refused to give up her seat
on the bus. She was arrested. On
news of Rosa’s arrest, the black
citizens of Montgomery came
together and agreed 3 v oo: mﬁ
city’s busesin Z
protest.

On 13 November

1956 their efforts wer
finally rewarded. After
381 days of boycotting

the buses, the Supreme Court HEm.w
that Alabama’s racial segregation
laws were ‘unconstitutional’ —
meaning they weren’t valid and
should not be recognised.

Martin Luther King Jx

Martin Luther King was an American
Baptist, minister, and activist. He
dedicated his life to leading non-
violent protests with a QOmH of Qmunu_m

equal rights for the
black community. £
Dr King led marches P .
for the right to vote

desegregation, and
civil and labour rights i
for the black community. One of the
most famous marches was in 1963 to
Washington DC where he delivered
his famous ‘] Have a Dream’ speech.

The Civil Rights Act of 1964 ended all

state and local segregation laws. In
1964, King won the Nobel Peace Prize
for combating racial inequality
through non-violent resistance.

King was assassinated in 1968 by
gunshot in Memphis. His deathled to
national mourning and riots in many

cities.

BETE CRIME - hnnoﬁ_um to reports 5« LGBTQ nrmua. m.o:mﬁmh. 1ing H_Qw.uo vmovum
have experienced a hate crime or incident related to either their sexual orientation or
gender identity in the Iast 12 months. Many crimes also go unreported as younger
IBGTQ people are reluctant to go to police.

SOCIZAL - Many people report facing discrimination when accessing social services
such as healthcare and housing services. This can lead to a decline in physical and
mental wellbeing as they avoid using these essential sexvices.

SCHOOL ~ Bullying is common in educational settings. Young LGBTQ people can be

harassed, face exclusion from social groups and become victims of both verbal and
physical abuse. As a resulf, they are at high risk of seli-harm and suicide.

MEDIA - Under representation in media resulting in a lack of undexstanding,
awareness, and healthy roles models for people of the LGBTQ+ community. This
reinforces the need io hide their identity and can lead to self-isolation out of fear.

SPORT - is an area where LGBTQ people are excluded. Rugby star, Gareth Thomas
investigated prejudice against this group in football and found that people chose to

hide their true identify out of fear of the hatred that would be directed at them.

,m.n&ﬂ&nolmogg (

opinions of individuals or
groups based on their

ﬁmﬂnq

Umu&uwnoulwnnum .
upon prejudiceand .
.u..mmﬁﬁwoomawuummﬁq

_Social Huuﬂmnno - umow om

ug &mﬁmmn:wm :
ﬁuﬁmﬂoﬂqgoﬁmnmom

over another. Prejudice

- and acts of discrimination -

Ummmnoﬂmﬂnﬂgmwmnm,

Segregation—a policyor

practice of ensuring racial

. groups live apart from

each other.
Oppression — prolonged

.cruel or unjust treatment
" Social exclusion - lack of

access to areas or services
within society. -

* Homophobia— prejudice
and acts of discrimination
~ | based ona person's

n? || sexualorientation.

Transphobia - prejudice
and acts of discrimination
based on a person’s
gender identity.

#llie —a person'who
supports the H_Qw.._.0+
' community..

 Equality Kct 2010 —legal

document that m.noﬁnnwn

,vmom.um from:
m_mnuhﬁ_maou basedon -

Mmuﬁ of their identity.

; Protected
;Q.Nunhgmnnwlmnwgﬁ .

of our identity protected
from discrimination by

aw. -

mnco_:< >Q 2010
Eowmoﬁma Ozoan*mzmanm

Bdvocate for all identities and
support campaigns such as ‘Love
Hag No Labels’ which seeks to
raise awareness on equality and
diversity.

Retively support festivals that
celebrate diversity such as Pride
and Notting Hill Carnival. Take
part in peaceful protests such as
BLM which advocate for social
change and equality.

Challenge prejudicial attitudes
and report discrimination that we
see in both daily life and online.

Refuse to use langunage that is
racist, homophobic, transphobic
etc and educate ourselves on

| terminclogy.

-] Become an ally to proactively

build inclusion for the LGBTQ+
community

Promeote compassion and
empathy to individual identity
experiences

Uphold and promote our British
Values - Individual Liberty,
Mutual Respect and Tolerance.
Educate ourselves and others on

historical events and the need for
tolerance of diversity.
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_ : . . s , Key Words
l Y10 Contentious Issues Legalising Drugs
Contentious Issue ~an
Pro Choice {for) Pro Life (against) issue that muﬁmmm opirons
- - - of people in society.

« it’s the mother’s body - she should decide what |+ Defenceless baby needs special protection . .
happens since it cannot stand up for its own rights Bbortion - ending 0mw

* Every baby has the right to proper care and love; |+ The rights of the unborn child are equal to pregmancy by amedical
if this is not possible, abortion should be okay those of her mother or surgical procedure.

« Raped women should not be made to havethe |+ Children with physical or learning disabilities .
baby as they did not choose to get pregnant and can lead full and rewarding lives. Conception - the earliest
would be constantly reminded of their ordealas |+ Abortion is murder —the deliberate taking of H"—On.m..mu—n a pregnancy
the child grows up human life ummsm during sexual

* If baby is severely handicapped, only mother can |+ Unwanted babies could be adopted. Many intercourse.
decide if she can look after the baby childless couples are desperate to adopt. -

* Inthe case of under-age pregnancy, the girl may A | vwmmm,m,m_,oz ! - nﬂmomhm.n”.”.”vomuﬂoﬂ —methods
not have really understood what she was doing, Heroin, Cocaine, Ecstasy (MDMA)} | ClassA “Fyears+fine Life + fine revent
and should not lose her education and career _ . - al ) _.. o o e - pregnancy e condom.
opportunities over one mistake _ Amphetamines, Cannabis, Ketamine ~ ClassB ‘Syears+fine 14 years+fine Discrimination - acting

« A family may be too poor to cope with a child, _ _ SRR R T R ﬁmugmvn&ﬁ&ommuﬁ
and if there are other children already, they may Anabolic steroids, GBH, tranquilizers | ClassC -~ - - 2years+fine 14 years+fine. - . .
suffer o nﬂmm.gm. mugﬂmm EE<

« life doesn’t really start until birth, or at least until Py - chemical
the foetus is viable Below are the mﬂnmamzw- and AGAINST legalising drugs. Unﬂﬂmﬁwunﬂo body

R e — M — Ilegal drugs are Emnw_ alters E.ménwpm mind
Key Facts Religious Views on Abortion rnSnwmzw_ﬁ_‘ are and body work
- Abortionwas . T | Regulation - arules
Aty o Christianity: The Catholic Church Could be d ing for public heal th made and maintained by
de legal'i ion i uld be damaging for pu ic hea
_made legalin |} bortonisnever accepable e.g., rise in mental health issues an authority
e nrm C_A .: Hmmu “1 R However, it doss accept abortion ifit is to save the life of the mother. Thisis because which use up more NHS resources.
the intention behind this action is not to end the pregnancy, but to care for the L= Legalisation — the act of
>_uoao= is woman's life and health ! The government would not be making something legal
; um..:.:ﬂmnw.:u %o J+ Thefoetusisa human being from the moment of conception o5 protecting vmou_m from harm,
- 2&weeks - - |* Mihuman lifeis sacred, and the foetus has  right to life B  andthey have a duty to protect Civil Partnership ~le
, : P
“ooens oo B ‘Donotmurder {Exodus 20:13) itionof a
1in3 women: _if drug use was legal, it could_ relationship — ends in
" willhave'an’ Christianity: The Church of England normalize use which sends the dissolution and can’t be
,mdoqnm 0:, : * Generally opposed to abortion, although some believe that in certain situations it can wrong message to children. defined as marriage.
: : be justified: mother’s life is at risk, the foetus is badly disabled and would only live .
, _sown mco;_ozm ; for a short period of time . o o E luom.mbﬁ
.nm_n _u_mn « You should respond with compassion: Jesus said, The second most mauo:ua_ nw:m-_m:.m view mnn__nn_o:. mw a threat to _s.._m__au view drug use, o.wr.m_. than those Hmnomﬂummm, unicnofa
b m.mo..m 2 h commandment is this: Love your nelghbour as you love yourself. Mark 12:31 the physical body and spiritual pathway being prescribed for medicinal purposes, couple as partners - ends
xm into the kingdom of heaven. * as Haram {forbidden] in Islam. in divorces, Canbe a
5_ -
mm lslam . The Catholic Church has taken a firm Drug addiction is one of the most religious ceremony.
>.... o..n . O: i m + Most Muslims agree that only mﬂ.a can create and take away life and so abortion is stance against substance abuse, in- all significant causes of self-destructing and Homopt U—D - ._ﬂ mpnm
m<m=mw_m for aoma.*. considered HARAM (forbidden). forms, for centuries, Peter 5:8 “Be alert life-ruining behaviours. Allah says: “and do and acts of di
. “1 f+ Abortion for purely economic reasons is forbidden in the Qur'an - Do not kill your . ; s
: *nmm“.o,a,nrm ‘N Im,. , children out of poverty and of sober mind. Your enemy the devil not cast yourselves with your own hands based onaperson’s
i Lo Abortion may be allowed fthe child is el to have a serious liness or i the prowls around like a au_..m.zm Tion looking into destruction’ B".Gs” In the D”__. "an, sexual orientation.
mother's fife is at risk. for mn._soosm to devour” Drug use for Allah says that any _amxﬁ:ﬂ are “from Activist - a person who
Sotme schools of Muslim law permit abortion in the first 16 weeks while others anly anything other than health purposes are the work of Sawan” {Quran 5:90). fights against a social
in the first seven. considered sinful. Although, the Church Therefore, Muslims consider that all non- E.Emnam ﬁﬁo_._m&
Generally, it is agreed that ‘ensoulment’ takes place at 120 days after conceptionand of England has 2 slightly more liberal prescribed  drugs .are the work of campaigning methods.
from this point on abortion is mostly considered Haram unless it is the Tesser of two stance and recently supported funding Satan and are designed to lead people
evils’ e.g,, to save the mother’s life. for the medical use of Marijuana. away from Allah.




Ylo Gbizenshif

What it means to be British

British Values Identity

Understandings of Britishness should be as inclusive as possible.
The term Britishness refers to the sense of nationhood held by
many citizens of the United Kingdom, and the idea that the
citizens of the United Kingdom have a common culture.

Democracy
The rule of law
Individual liberty
Mutual respect

Being British has come to mean a "layered" multi-identity where citizens can
be simultaneously British, Scottish, English or Welsh.

Citizens might relate to their nationality, country or region when stating their
identity.

Population o
It is estimated by 2037 that the UK population will be 73million, P Individuals gain their identity in numerous ways. Some people say identity is
with the number of elderly people increasing. UK 64.6m something you are born with (British by birth) whereas others say it can be
UK citizens have rights and responsibilities. Rights are often Ene c43m adopted (British citizenship gained). This is known as a nature vs. nurture
though not always written into law. debate.
Responsibilities can be legal (for example, to pay taxes) or they Wales 3.1m Britishness is evolving and re-forming with every moment due to factors such
can be moral. A moral responsibility is the correct thing to do, Scot 5.3m as immigration.
moral responsibilities are not always enforced by law. N.ire 18m An identity is not fixed and can change depending upon situation.

Diversity in Britain The need for mutual respect and tolerance

To become a British citizen people from other countries have to pass a citizenship test. v Recognise and utilise talents and contributions of others, regardless of
The UK is a diverse country and has a long tradition of immigration and emigration. diverse cultural or physical characteristics.

1.8million UK citizens live and work in the EU. v" Without respect among people, the incidence of conflict may increase.
v Britain has been drawn into a single global economic system due to the
The makeup of the UK could be grouped by: age, gender, ethnic background, religious cross-border nature of today’s world (communication, travel, trade etc.)
belief of wealth distribution. The census records this data — The Office for National v" Morally right to respect and tolerate each-other.

Statistics (ONS) provides reliable source data.
Increasingly Western countries are becoming concerned about how citizens are

influenced and then take part in military actions abroad or within the UK, then
pose a threat to national security. This concern has resulted in heated debates
in society relating to immigration and diversity.

Many immigrants come to the UK for economic (work) and family (join those already
residing in the UK). The medical and technology workforces are the most likely to be
pursued by migrants.

The UK’s role on the world stage

The UK is a member of a number of major international organisations. This membership plays a role in shaping foreign, defense and economic policy in the UK, as well as
having an impact upon its national sovereignty. The UK played a major role in the establishment of many of the key international organisations. The UK now holds more soft
power than hard power in international affairs, despite this the UK’s defence budget is the 5% largest in the world.

United Nations: The UN is one of the most important international bodies in the world with 193 members. The UN has legislated key declarations such as the Universal
Declaration of Human Rights. The UK is one of the five permanent members of the United Nations (UN) Security Council, which means it has a veto over UN action.

NATO (North Atlantic Treaty Organisation): NATO is an intergovernmental military defence alliance. Nato is important in shaping UK defence policy as Article 5 states that an
attack on one member is an attack on all. The UK was one of the founding members in 1949. There are currently 28 member states of NATO.

The WTO: The UK joined the WTO in 1955 which consists of 161 member countries working together to deal with trading rules between nations.

European Union: Winston Churchill first suggested the idea of a European community in 1946. The union was finally founded in 1957 and there were six member countries
(France, West Germany, Belgium, Netherlands, Luxemburg, Italy). The UK did not join until 1973 when they voted in a referendum to join the Union. In 2016 the UK then
voted to leave, again by referendum. Despite this vote Britain is still a member of the EU as the leaving process has not completed. The Union has its own directly elected
parliament, the UK has 73 MEPs out of 751.

Council of Europe: The Council is Europe’s leading human rights organisation — the UK was a founder member of the Council which is not part of the EU. 47 countries are
members, all of which agree to follow the European Convention of Human Rights. The European Court of Human Rights oversees the implementation of the Convention.

Citizenship
GCSE

Citizenship

Values

Principles

Democracy

Individual
Liberty

Tolerance

Multi-cuitural

Multi-identity

Discrimination

Identity

Patriotism

Nationalism

Immigration

Emigration

Refugees

Hate crime

Freedom of
Press

Investigative

Accountability

Regulation

Census

United Nations

NATO

European Union

Council of
Europe

Commonwealth

World Trade
Organisation

World Power /
Super Power
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What is democracy

Citizenship GCSE — Politics and

*  Asystem of government by the whole population or all

Participation

the eligible members of a state, typically through
elected representatives.

* Direct democracy - a system of government where all
citizens take part in decision making. A modern form of
direct democracy is referendums.

EU Parliament

U

\ The Monarch

* Representative democracy - a system of government

_nmsna_moﬁ:_am:"cx_ .

House of Lords

where citizens are elected to represent others in an
assembly.

* Liberal Democracy - a system of government based
upon representative democracy and linked to the rights
and freedoms for citizens. The UK is a liberal democracy.
Liberal democracy became the predominant political
system in the world. is characterised by fair, free, and
competitive elections between multiple distinct political
parties, a separation of powers into different branches
of government, rule of law, and the protection of human
rights for all.

* Values underpinning democracy: Rights, responsibilities,
freedoms, the rule of law.

* Democracy in the UK is across multi-tiers of governance.

Central Government / Parliament

Three main parts: House of Commons - All of the MPs elected by UK
citizens in the general election. Each represents their own
constituency. House of Lords - All of the Peers. They are unelected.
They are nominated experts in their fields. The Prime Minister has a
large say in who becomes a Peer. The Monarch - The King or Queen at
the time. They’'ve less power now but still have final sign-off on laws.

House of Commons: House of Lords:

*  Make laws ¢ Check on the House of
+ Examine the work of the Commons and make sure

Government by asking questions laws are not rushed.

and having debates. ¢ (Criticise the government if
* Keep a check on government it thinks that it has
spending. become to powerful.

* Hold debates on
important issues.

* Represent their constituencies
and the interests of their people.

Who can stand?

All candidates must be 18yrs + and either: A British, Ireland or
Commonwealth citizen and not be subject to any legal incapacity. You
cannot stand if you: Are a member of the police or armed forces,
judges or those politically employed outside of the UK; subject to
bankruptcy restrictions; sentenced to a term of imprisonment of 3+
months, including a suspended sentence within the last 5 years; been
disqualified for any reason under the Representation of People Act
1983

Devolved Parliaments

Regional Governments |

.
/ House of Commons

The Scottish Parliament
\

The Northen lreland Assembly

/

Devolution is ‘the transfer of central government
powers to lower levels (e.g. Scottish Parliament),
these powers being exercised with some degree
of independence though with ultimate power
remaining with central government (e.g.
Westminster).

Devolved parliaments do not have a say over:

v'The Crown v'National insurance
v'Parliament v’Elections
¥'International relations ¥'Currency
v'Defence v'National security
¥'Immigration and Nationality v'Nuclear energy
v'Taxation v'Quter space

Tax

The government can either raise income through
borrowing or forms of taxation - a mandatory or

compulsory payment to the government from a workers’

income, profits of a business, or added to the cost of
some goods, services and transactions (VAT).

The UK economy is known as a mixed economy (mix of
private and public sector services). Government planned

spending is announced annually in the Autumn
Statement delivered by the Chancellor.

Constitutions

A constitution is a set of rules that; Seek to
establish the duties, powers and functions of the
various institutions of government; regulate the
relationship between and among the institutions;
define the relationship between the state
(government) and the individual (citizens); i.e. the
extent of civil liberty.

Without a constitution the government could
simply do whatever it wants — oppressing
minorities, violating freedom, tyrannising the mass
of the people.

*  The UK constitution is classified as unwritten and

The Welsh Assembly is a flexible document influenced by many
documents. However the USA is a written

There are 8 Reglonal Assermblies: constitution which clearly lays out the rights of
Ltertnfost citizens but it is not easy to change.
& Yo sndHunber Main features of the UK Constitution:
S. West Midlands . . .
& South West Fusion of powers Parliamentary Sovereignty
7. South East . . pe
& Cormvaltand ses ofScllly Flexible Uncodified
(8. London has its own Assembly, because e .
it large City and can be counted as well Uncodified Unitary

Regional / Local Council

Responsible for well-being of citizens
resident in the local area. They have to make
sure that roads are safe to drive, develop
plans such as leisure centres, inspect
companies and make sure that environment
is protected from excessive toxic waste,
observe and monitor crime rate, building
and renovating of schools, hospitals and
other social care buildings to meet required
standards set by the Central Government.
Local authorities get a certain amount of
budget from the Central government and
they need to spend it wisely.
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The problem of mS«mml:

A God that can stop human suffering but chooses not o
doesn't moE& fike a very-loving God. That's a problem;
says:that God:is love: (1 Tohn 4:8); S0
if God i5 love and God is omnipotent ~ihy is. there so
:EQ. neglect, sitffering, pain-and:evil-in the world? ._._.__m
is known as the problem of evi
Chiristians Emvo:&.g the problem of evil in'several ways.
One response: that a'Christian might give'is that God Has
‘given people free will. This means that; even though'God
power, or the ability to-do everything. - could make-everyone do the zm_.s. thing all the time, He
This medns thdt nothing.is impossible - has chosen to-allow pecple the power to choose how they
for God. Indeed, act. He has given plenty of instriction-and guidance in-

- the'form of Jesus and.the Bible, and if'is.tp 4o,vnov_n to

follow that.

One:more résponse that a Christian-might-give.is: i:.:,
6od has a plan:for:people;, which might involve them

having: to saffer alot. The reasons for this may. not be
¢clearto-us as human beings; birt God has His’own, _.Emoﬁ
and we just have to trust Him. OtherCh
say ,16._. because: T esus suffered .:5 Eowﬂ. vn.: @Q:m

The nature of God

The Chiristian: God is omnipotent (all
powerful} Omniscient (all knowirig),

Onmnipresent (present everywhere),
Omnibenevolent: (all loving):

“The Lord God emnipotent reigneth”

Revelgtion 1 .
(Revelgtion 19:6). However, some Christians _396“.3. the details in.

.m&.:._m | the animals and birds: the midn :mamm wxmﬁ.‘ucw : the Bible as’ a parable or a story, which isn't liverally
nore was a suitable companion for hith. The Lord God put.the man ifto a déepsleep, and”  true,buthelps people- o understand that the world .-
while he &mvu bn.woox e ow..wrm man’s Ewu and .ms.anm awomarnout Sn n..«hna,m.uw =i inag created by-God. So, while ‘Creationists would

. ' have d problem. accepting a consrasting theory of
how-the universe began; other Christians can rnvv_?
accept that scierice might have's nin_.ﬁi. '

. NXED:&.E: ,mov ur origins.. - .

Omnipotent means having unlimited

use the ¢oncepf of original
the problem of ‘evifi there is s6.much .
suffering in the world: because we gre.
perfectand sinful.creatures; Sro can-
anly be saved through God's:grace i ._.rm
: form of Tesus Christ. Catholics believe we
were dll tainted By. Adam and Eve’s-opiginal "
;. disobeying God and eating'an apple’
- i fromthe tree of: r:os__wamn inthe: me.an:
of mn_m=

- from-the Garden om, Ederifo
*You miay eat the fruit of any trée inthe mnad.wz except the tree: .an... m:ﬁh raoimn.mn :
" of what:is'good and what is bad. You must not eat- »rm fruitof 15» ﬁ.m» :n you do.you
“will die_ that same day”. mmnznuﬁ 2:1 m -17).. .
John's; Gospel states tha
MInthe beginning was: the <<Ed arid the <<o_i was s:.z.. mou and .1..0 Word vias mom Iw
7 g. Through' all things were Enn_n. without r:: nothing |
" was made that has wnn: made” (Johin 1:1-3).
. The:Word referred: +n-.vﬂw4na as Jesus nr?ﬂ. [&] or: terrefersto.
‘the Word vwnua ing £ lesh any __< hg'among; us). This shows'us how:important Tesus has
1 + _mcm;ﬂ The: x Spirt also rn& an.

Genesis 18:14 shows God esking, "Is
enythingtoe hard for the Lord?*

For 0852» Ba:,\ nw1ﬁ+_n:m anNE‘ iam Big Bang, :
. Theory.of #he uriiverse, but they also believe that.
‘the massive explosion; or'big-bang’, that started the
...c=_<m1mm 15 billion. <no1m nmo was: nn:un& _u,\ mom ’

as areproach'to Sarah, who did ot
believe she would have o child at her
advanced age. .-

But-there woiild appear fobea
problem here. If God is omnipotent,

- which the Bible says He.is, then why
do wé have: pain and suffering in-the
world? If-He:is omniscient he must
know about:if, omnibenevolent-and he:

: ,>=o4rm_. challehge
- rigin.in the Bibleisithe .:ﬁoq of
. ‘most famously associated with Charles
Darwin. who in.oaw a oox ca nn ‘On ﬁ..a 0165 of .
nQ darkdess was over .z_n mzannnw of - ﬁ:m déep, n:m ;
the Spirit of God was hovering over Q..N :Enm_.m 1:& God said, hw.n there be fight,” nan

Yet a:o.:.n_. resporise. mr._. be that
suffering is a:way to help:Chrisfians fo. ' [& Some’ mr:ﬂ ns. woul _._mm,:.m gom
become better'people; either by. helpin
“those who.are suffering, or _u< being

must-care. God's gmnipgtence means
that He could stop-the pain-and
suffering, since nothing is.impossible
for Him. We must-therefore conclude
4:3 xn nroomnm :q_. 3

The oneness om mon_ n:&

the Trinity

Christians believe in one God.

However, they also believe in the

Trinity, which is the concept of
the three persons of God: the
Father, the Son, and the Holy

Spirit. The Nicene Creed, which

is the Christian statement of
faith, expresses these ideas o.m

belief in God.

We believe in one God,
the Father, the Almighty,
maker of heaven and earth,
of all that is, seen and unseen.

We believe in one Lord, Jesus Christ,

the only Son of God,

eternally begottenof the Father,
Gad from God, Light from Light,
true Gad from true God,
begotten, not made,

of one Being with the Father...

We believe in the Holy Spirit, the
Lord, the giver of life,

who proceeds from the Father and
the Son. R

With the Father and the Son he is
worshiped and glorified.”

Sin

Therole of Je esus'is so: _avolni. in i._w nr:ﬂ._n: worldview: anncmn Sa iﬁ no:nnE. of si
; they dre referring fo two things: goin nwn

aﬁnn

law on ‘behalf of rc:ﬁ:.@ riof becatise r:a Fiity. desel
give iﬁa m_,ﬂn:m} <oc 2.: 1mnn_<m power when the 07\ Spi

>._.o=n5n=+ s the hame given to +_,_n recol
human); the sitis or wrongdoings of _Ean:_é canbe vnvmosmm In ._,
thev.are not.untn. His.nerfert etanddsd. .

_,nss_.mnq_ for their suffering.in Heaven

Prayer is also considered by Christians to be both ¢ way
of helping pecple who are suffering, and a way of: rm_u_zm
.:aw vwﬂmo: v_.n«::m ._.o nzn_E.m »r r mcln_._zm

God the Father is the God of the Old ._.»m*nan:._.
creator, ruler, judge and Lord of the universe. God
the Son is JTesus, who lived on Earth amongst
humans and who died as a sacrifice fo save

humanity from eternal damnation. God the Spi
the giver of life, who is-active in the hearts of
believers:

Know ye not that-your body is
a femple of the Holy Spirit
which is in you, which ye have

Each of the persons of God is God: Christians believe
that God is simultaneously Three and One. While this
may seem impossible, the point is that nothing is.
impossible for God, and that God cannot be understood
by mere human logic. The concept of the Trinity is
important because it highlights the mystery of God, but
also helps Christians Yo relate betterto God: they may
be encouraged to worship the Father, follow the
example of the Son, and ask o be filled with the Spirit.

The relationships betweenthe Fother, the Son and the
Spirit can help Christians to understand how their own
relationships should be conducted: for example, with
mutual love, respect; generosity, tolerance of
differenceand so on.

Io§n<n mom gave ;n solm anew _os. +rqo:mr Jesus ._.2: n:v 2._3 is. uos.wa out.for vs: is the. :wsxno_\maa:,w inmy’ Euom «hn»m .
Here'is $till a chance:for human| drco

from God?" (1 Corinthians 6:19) -

* However, there are several references to Fleaver inthe Bible as i it was a nr,\m_nn_ location:!

there was light'. (Genesis 1:2-3).

There are dif ferent opinions dand. _un:w.mm within. Christiohity nooS Fiow God an&n.wrm

world: For.some' Chiristians, fhe détail

+he Bible ave literally true and 4wm< bélieve

that'God made the: S.ulm EB&.? as: mmmnEUm& inthe Bible. mov_w Ero believe in “the

.;wximzmma

Christions believe that there is life after n_wn._.r even though the body dies. A veryfamous line from the
Bible is, John 3:16, states that "God so loved the world, that In gave His only son, that whoever believes
in'Him should not perish, but have eternal life”:

Christians believe tHat Tesus was resurrected affer His death onthe cross, and that He ascended o
Heaven fo be with God the Father. Christians believe that Jesus has'bought them new life after death
through His sacrifice: “Jesus said, ‘T am the resurrectionand the life, He who wn:n,\mm in.me will live, even
though he dies™ (John 11:25-26). .

However, Chiristians also believe that everyone will face judgement from God on J .._mmwawi. Day: “For.we
must all appear before ‘the .En@:mmn seat of Christ; that each one may receivethe Q_Smm done in'the body,
according to what he has dorie, whether good or bad“ (2 Corinthians 5:10)..

Accordingto Christian belief, Godwill judge n<w1<_uom< by what' they-have done in'their fives. Those whio-have
accepted the sacrifice of Jesus Christ:will be redeemed, but Fhose who have riot accepted the giff of salvation
will be damned: "Anyone not written in the Book of Life was cast ito the Exm of fire” (Revelations 20:15).

Some Christians believe that this ,_cmmn:_wﬁ will happen when.Christ refurns to meiy ?:_m is called the
Second Coming), in order 1o resurrect the.dead and establish the Kingdem of God on Edrth. Christians believe
in Heidvenr; many Christians believe in'Hell; and some Christidns believe in Purgatory. (a place where:souls wait
after death, 1o be cleansed of sin and prepare for Heaven).

There isnita.cledr nmwmm:ﬁ:» aboirt what Hedven and Hell look like; some Chrigtianis
Fhink of them as being physical places, whereas: other Christians think of Heaven dnd
‘Hell:as'more fike states. (Heaven is the state of being: connected with God, n:m Hel}

is the state of being ciit off from God).

"In my Father’s house are :.Bax rooms” (John 14:2): "Listen in Heaven, your Q&m:Sh place”
(1 Kings 8:30); "Our citizenship is in Heaven”. %::ﬁhaﬁ 3:20).

As with any belief mw.ﬂ.n_.? some followers take ¢_oun ideas more literally. than others,

o <e.3a people,

(Mark 16:19)."

..ﬂomB\. fhere s conflict about Er&.r&ﬂ 1o teach

Creatidnism or evolution in-some schools, k
particularly in the USA. However, many Christians
don't Have @ problem with the theory of evolution:

they see the Bible story as ¢ parable, or-a simplified
vepsion té help vmov_w c:u@.ﬂdz& the idea that mou
Bnmw rcanzm.

u.mmcm Q.:._ﬂ. and. mQ_<3._o=

. A mentioned above; Jesus is believed to be one of the vnao:m of Godiin the
. Trinity.: u. ohn 1: 14 states iﬁw ..;m S\o_i became flesh and En&n His QSm:Sm

among Us”. \\
This n&na Yo Ji nucm vm_zm .os.: asa wnvv. ._.o avirgin 33.:2 n:a ving as'aman
on'Edrth; Youll sometimes hear this referred Yo as the: Thearnation, Thes” -
Tncarnation is-the idea that Jesusiis both fully God and fully rcana af the same
time. A key belief forall Christians is'the Resurrection This is .Ew belief that-

Jesus was crucified; died, was' baried:in a tomb with diseale n:#n:am and rose
from the deadthree days afterHis death, This is such:an important belief for
Christians because it proves to them that Jests has power over life and death

ond that He died fér theirsins: they | believe that, throi h “_. esus’ moe.aﬂ_nn .:._Q

will: be uv_zén_q Em_._z.nﬂn&o :ws _snn s::,_ moa L v

- Tesus was crucified by the Noans nﬁro_i.nm sro noﬁaﬁ.nm hime

troublemaker: H ¢claim Yo be King of the Jews.was also seenas highly.
! nno_.m_zm 3 _.cxmm Gospel,when Ji nm_._m was

some of the di iwm but oEm didn'f believe the .
miesstiges that they passed on dbourt Jesus being alive ogain: So, Jesus nvvnaqnm

Jo elevendisciples as they.were: st fogéther, and fold .:55 To mo

*245 and:spread the good new

"“Sp then the wo& .Mnm:m afterHe had muo»ma to'them, was.
taken up into Heaven ‘and sat. &oss at the right hand of God” -
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<<o1m:.n ) n _§\ par &S ns_.m._s:m.ﬁm sou_% 3 uBﬁm od,

ond with 3:2. D:.is: Ei +ns_ .zﬁ .Io_< mv_:* s:_nr }3\ a& nxvmzm:nn when msmsm. massm or vmsm E.oc_a 3:2. soarﬁvw_,ﬁ in nrs.n:.

»:3. mo__osmn set o..%._..ﬂ “a nmo_.an i
. i,nm_nv_.ﬂ_:m Tesus' _anm rid’ mno ffice on iﬁ Crass: _hE.m_B_ WOrship is obiserved 3 >:m__8=m. Roman nBro_ﬁ and 03:o%x Christions.

:E. 5§_<R Holy noaa__z_o: An_mo Kriown as §n m__nrn.._na in which: zoxm:_%o_.m eata map__ Q;vo__n piece of E,Sn_ n;a a...:x ( man__ .&avo__o :

The sacrements
A sacrament is a:specific rite or n..nﬂ.nm which' Tesus mo<n+n Christians. as a symbol of God’s grace.
Different denominations of Christianity recognise dif ferent s, The Catholic Church recognises

' seven sacraments: baptism: confession: the m:nru_..uw {(Holy Communion); confirmation: marriage: holy

orders; ancinting of the sick. Anglican and Enwrom_ma Chpistians lly ¥ griise two sccr = the

Eucharist and baptism.
The sacrament of baptism is significant for all Christians; Jesus himself was vnvﬁmnu by John the Baptist,

" "Baptism; sometimes called:Christening, involves the candidate being either immersed i water or having

waterpoured on them. It is a ceremony which symbolises the cleansin of a-candidaie’s original sin and

- 4hieir initiation into life as.a believer and child of God. Many un:oa_:ﬁa:m of Christianity regard baptism

as riecessary {o be saved.

ot

Some faith traditions practice er's baptism”. This is the religious practice of only baptising people

- -who have ar.mb&,\ declared their faith in
" Jesus Christ, a5 opposed to young children, who dor't have the: capability to understand what faith means,
*or tb declare it, However, most denomindations do baptise children and infants.

“The sacrament of Holy Communion, alse called the Eucharist, is also very-significant for Christians. It is
based on the words'and dctions of Jesus at the Last Supper (the celebration of Passover and final meal

_that Jesus shared with-his disciples. before the crucifixion). According to: .

Matthew 26:26-28, 'While they were eating, Jesus ook breed, and when he had given thanks, he broke it

.and gave it 1o his disciples, saying, “Take and eaf; this is my body Then he took a cup, and when he had

R R R I L a “.. given thanks," he gave it to them, saying, “Drink from i, alt of you. This is my blood of the covenant, which i
..J ‘. .‘,.;.voc...maoc.;awan:xm%?wmo_.magmmm&"mwﬁ... .s

[« g for thei moom qmzn E»rm day os. m&< bread?, and for moBzmsmwm and »xm ﬂ._.m:m} live: oomo&sm o God's ldw’ A..ms.mzw usg os.a,mmunummm as s.m.mo_.mzm those s.:o 4&8& umoaﬂ
s, and. _Em ﬁ :3.53 gvz n;. wﬁ mm_aﬁ. us ?oa m<___u. B . . T .

>=_S=m_._ pilgrimage isn't: given as much significance in nr..ﬁ:n:.q asitisin Hm_na pilgrimage is sl important to many Christians.
Places of spiritual significance for Chiristians. include Bethlehem, where they believe Jesus was born, and Nazareth, which is
deseribed in the Bible as the place where Jesus spent his childhood. Christians sometimes choose 4o travel fo these placesin order
to Feel closer o Jesus: for some Christians, the chance to pray in the Church of the Annunciation (focated on the spot where it's”
believed the Angel Gabriel gave Mary the news that she would give. birth $o Jests) s an important chance o show their devotion
1o God.

Two contrasting examples of Christian pilgrimage: are Lourdes and Tona. Lourdes is a site located near the Pyrenees mountain
range in France. It's believed that the Virgin Mary appeared many fimes to a young woman called Bernadette Soubiros at Lourdes
in the 19" century. The Virgin Mary fold Bernadette to drink water from the muddy stream at her feet, which became clear the.
next day. The Virgin Mary also told Bernadette 1o have a chapel built at the spot where the vision had appeared. Millions of
pilgrims, especially-Roman Catholics, visit this chape! every year. I¥'s believed that the spring water of Lourdes can cleanse
pilgrims of sin and even cure illnesses in.some cases (the International Medical Committee of Lourdes has recorded 69 ‘miracle
cures' since it was established in 1947).

Tona s an‘island off the west coast of Scotland. Saint Columba lished a monastic ¢ ity on Tona in 563 AD; the workhe
did there wenton to establish Christianity throughout Scotland and eventually Europe. The monastery that Saint Columba built on
Tona became an important site of pilgrimage, as did the abbey built on Tona in the thirteenth century. Today, the Tona Community,
a group of Christians from various denominations, conducts services and leads tours for pilgrims visiting the islind. The importance
of Yona is more focused on Columba's great success in spreading Christianity, ﬂﬂrﬁ. than the celebration of miracles as at
Lourdes. Both sites are very significant to those who believe.

Another site of greatimportance to some Christians, especially Roman Catholics, is Reme, This is where Saint Peter, ppointed by
Jesus as the head of his' disciples; went after Jesus’ death and eventually became Bishop. Today, the Vatican is the home of the
Pope, who is believed by many Roman Catholics to be the direct successor of Peter, and God's representative on Earth.

“the: House of Lotds - and some: stilldo).

local c

na_mwan:onw
Christmas and Easter are both very important celebrations in the Christian calendar. Christmas is celebrated by Christians in -
order fo commemorate the birth of Jesus, who they believe is the. Son of God and savieur of humankind. The word ‘Christmas’
comes from the Mass of Christ, which is a Eucharist or Holy Communion service, held ot midnight, commemorating the sacrifice
made by Jesus on the cross. I¥'s celebrated by many Christians on December 25*; or on January 7% by Orthodox. Christians.
Christmas is a highly significant festival for Christians, but many non-Christians. enjoy celebrating Christmas as a secular occasion,
on which 1o exchange presents and spend time with loved anes. Indeed; many popular Chiristmas celebrations actually corite from
pagan fraditions and have nothing to do with Christienity, for example Father Christmas dndhis reindegr. In modern fimes,
Christians and hon-Christians alike have criticised the secular celebration of Christmas for being far oo focused on the:
commercial side (ie. people spend way too much money on presents and other things. at Christmas). This is seen as very far away
from the ‘true’ meaning of Christmas, which is about love and Jesus Christ.

Easter is usually described as the most significant festival for Christians, This is the commemoration of the death, burial and
resurrection of Jesus Christ. Tesus was crucified on the day known as Good Friday, and his body was leff in a sealed tomb. Three
days later, on the Sunday, a group of women visited the tomb fo aheint the body of Jests with spices, only fo find that the tomb
was empty. “As they entered the tomb, they saw a young man dressed in @ white robe. sitting on the right side, and they were
alarmed.

o places far across the globe, as wellas within the Jocal community.

Ema_uﬂ.mr_v will fall to'8.4% of the population by 2025.

The importance of +rn worldwide Chuich -

“Don't be alermed,” he said. “You are looking for Jesus the Nazerene, who was crucified. He _sm Rwa He is not here. See the

place where they laid him" (Mark 16:56).

for ple, 11 Christian m aries’ were: crtcified nzn beheaded in m«...a in Nou.m.

Christians have celebrated Easter and the 40 days leading up to Easter Sunday, knowri as Lent, ever since. During.the period of
Lent, many Christians give up certain luxuries in honour of Christ’s jaurney info the desert, where he fasted for 40 days. Easter
Sunday is a day of great celebration for Christians, as it is a symbol of their faith that Jesus was raised from the dead to be the
saviour 'of humankind, As with Christmas, there are many pagan influences on the way Easter s celebrated in Britain today,
including the Easter Bunny and Easter Eggs, which don't have any reference to the Christian story of Easter.

Reformation; when 2000 French Protestants were :ER_G.& in justone day).

i. The Eucharist is important for Christians bé
< sacrifice that Tesus made on'the cross: I¥'s a way not only of deepening an individual’s faith in Jesus and

i".God, but-also a way of developing the 1m_n.w_n:mr.um and connections between dif ferent people of the same
i faith community.

The Church has historically . played a- xn< _im in the local community in Great Britain. 956:»“ used to bethe focal vo.i of unov_nm _.<R. .,.s»
seven sacraments used fo be key parts of a person’s life; from baptism at birth to- the last rites and anointing the body at death. The Church
used to be Emvo:m..v_n for the education of n:__n__..m:. looking after the sick, giving money o the uoE. and even .:nxsm _nsm ﬁwmrovm had seatsin .

Today, while lots of aspects of Great Britain's culture are stll highly inflienced by Christian' practices and traditions, the Church doestt play the
same key _.o_n for everybody as it once did. However, churches dre still important for many people; and many chirches do alot of work in-their
v, not justwith their congregations, but with anybody in need. For example, at least 63% of the UK's food banks are run by d &
 Christian -organisatior: food banks have become an increasingly imporrtant. service for feeding poor. pedple as unemployment has-grown. As well as
being central o the Feeding of poor peaple, churchies serve their community in otheir wdys. For - example, an organisation called 'Street Pastors’
+rains and sends <o_§*mﬂ.m 15 ao.z.o_ iﬁ ﬂ._..mnd,_: ._.os:ﬁ and cities in order-ts _ﬁn_.. .3 and ,rm_v vmau_m viho may be [wing rotigh on the streets.

_nE. many churches, the o:#.mnnr work that they do in rn_nmsm the. poor is a form of n<n=mn=m5.. The'term n<n=ma_ﬁa means the mn_.,ga.:m of the!
Gospel or word of Tesus Christ. For many Christians: and churches, an-effective way of letting people know abott Jesus is 1o do good works. B
However, tnany churches and Christians -also: use other. means of engaging with people and persuading them o accept Christianity. Many Christian .
organiisations take partin what is kriowr as 'migsion work’, which anzumm:n_s@ out m..o_._wm of peoplé to mu..mnm the word of the Bible. dﬁ canbe

Evangelism has always been important fo churches, but church attendance seets to be falling. T the c_a church aaswn_.mr_v has decreased ?oa y
105 million in 1930 fo 5.4 miillion, in 2010, or from about 30% of the. population 0'10:3% of .:._n. population; If this frend carries on, church

The worldwide Church can be described' as-the global’ 853::3. of people who identify as Christiahs, regardiess of nationality, race, age, culture
or location. For Christians; the Chirch:on:Ear¥h is.an agent of reconcilirtion through i:.nr‘nr_.ﬂ.nam believe humanity will be redeemedand
brotight under the rule of Christ: Rotiian Catholics believe that the Pope has authority over the. Church on Eari As God's 1%_.8@:33& on
"Earth, they believé that the Pope is the universal pastor and overall head of the Church in legal, practical and official matters. .

The Christian Church has a long history of persecution. Within the first few centuries of Christianity, Chiistians Were persecuted by Roians
(even fed 1o lions), as well as Jews. Many Christian missinaries have been persecuted and martyred for their attempts 16 spread theit faith

. In countriés where Chiristianity is not the dominant 1m__ma? Christions still fdce persecution. today, with North, Korea being named as the most
dangerotis place to be @ Christian. in 2017 Christians have: clso been mE_.Q of persecuting each other (for example, during the Protestant

ffisa ation or way of remembering the

n -
between

However, there are some key a_? g tions when it comes Yo the Eucharist. Some
Profestants use grape jiice or water instead of wine and more importantly, Protestants see the actas
syriibolic ~they den't actually Believe in literal transubstantiation (the idea that the bread and wine
actially fransform:into the blood and body of Christ) ~ this is a key Catholic belief. Some denominations,
eg. Baptists, will only allow adults who have been baptised to receive the Eucharist, whereas other
denominations will allow all Chiristians;” including children, o receive the sacrament. Other denominations,
eg: Quidkers, don't use the Eucharist at dll o5 they see it asrestrictive.

Some deno tiohs, 2. M , ohserve the Eucharist every Sunday: however, Jehovah's Witnesses
obiserve the Elicharist once a year on the occasion of Passover (and even then, only members of the
144,000 ‘anoirited class" can have #). Roman Catholics believe that the bread and wine literally become the
body and blood of Jesus Christ. even though they stil appear as bread and wine.. They believe in the literal
presence of Jesus in the Eucharist, whereas many other denominations _...w_ ieve In the spiritual but not
literal presence of Jesus in'the Eucharist.
S0, You can see that hi g which is supposed o unite Christians still has quite a lot of diversity when
it comes to the methods, practices and vnou_w who fake vnl,

W?E Aid _._m_.vm vwov_n#v
:._u.» E:uosm,::m people”

The Bible noansm some comment on mc,mmm_;_:m perseciion: ....H,_n you suffer as a Christian, do not be ashamed, but praise Ged that youbear that :
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_Am<‘s_\oam_m:a.mm:::_mm:w. .

_umnﬁo_,_m_:m ncma_,mcn mx_u_,mmm_o:m

Expression -Mathematical expression that consists of

. variables, numbers and operations. Eg 4a + 2y
Term- A term is either a single number or variable. Terms
are separated by a + or - sigh in an overall expression.
Simplify -condense an algebraic expression by grouping
and combining similar terms.
Expand - Removing the (), the terms inside the bracket
will be multiplied by the term outside of the bracket.
Factorise- Taking an algebraic expression and putting it
back into brackets.

Expanding mim_m, brackets

(x+§)(x+5)

X2+ 5%+ 8x+40
X2+ 13%+ 40

reutbory

. ll-3

N<~+ 14y - mm -42.
: 2y’+8y-42

Expand the brackets ~ Expand the brackets and simplify
nultiply, 3_5..._5
m\AA.xp._./mu 12(dx +8) - 6x
48x + 96 - 6x
2x+18 42x% + 96
- TN, TN
6y(9-y) 7(a-11)+2(3+a)
54y - 6y? 7a-77+6+2a
- Ba-71

’0\ North East

0’ Learning Trust

_;_“mnﬁo_._m_sm __:mmq mx_o_‘mmm_o:m

Find the HCF of 5 and

25. This is put outside
of the brackets. Work

W\Un x +m.v /\ backward to decide
the terms inside of the

bracket eg. 5 x ? Will
give 5x?

_ Uﬁm?:am owN,mn:u.ﬂmm :

Factorise
a’- 81 \/\.ﬂ.
=(a-9a+9)
\ \

One — and one +

X2 =3x+2 xX+3x-10
(x=1)x=2) (x + 5)(x - 2)
Identify the factors of the
2 -— Jast ber, then
X x wo nmwaw_m_q“ ﬁwqamxm the
— ired fx. B
O+ mxx 6) s

mwmo_<_=m n:m&mﬁ_n mn:mﬁ_o:m by _“mnﬁo_,_m_sm

Solve AH.T.NVA.Nle"O
x+7=0 or x-2=0

4 %
x+7-7=0-7T§x-2+2=0+2
x=-=7 x=2
 Hegarty Maths Links e

Expanding single brackets 160-161

Expanding double brackets 162-165
Factorising single brackets 168-169
Factorising double brackets 170



<mm_, Ho _nocso_m.:o: Topic 2 Sequences mﬁcami x:oé_mamm Organiser

_Am< anm and n_m::_:o:m LT e o cogni ion and continuation © T . xmnom:_m_:m ot mnmmn:msnmm

_u_mmﬂm:nm amount _umﬁs\mm: two :chmqm

e.g. difference between 8 and 6=8-6=2 _u%.ﬁmu * E.,&;H , Patend Geometric sequences either multiply or divide by the same
. i m number to get to their next term
Term — A number in a sequence
Nth-Term — The term at the nth position wf\mf\mmf\w»@m
Coefficient — A :cBUMﬂ._‘ n ?wwﬁ wﬁ.mmm_mmca_n term When given patterns, turn them into number sequences to L X2 X2 X2 X2
e.g. coeflient of 3a”is help continue and find the nth term of them.
_._:mm_, sequence — has a constant difference between each So the sequence above becomes :
term . 256 64 16 4
Quadratic sequence — has a constant second difference 3 5 7 A C A\ 4 C
between each term +4 +4 +4 +4
Geometric sequence — has a constant multiplier to get to the Next pattern will include 9 squares
v Bmx.ﬁ .Hmﬂ-g - . U O P P . .
zﬁ: ﬁm_‘B oﬁ __:mmﬂ sequences = L g B g e e QUadTatic sequences are sequences that include an n? in the
: -Common mmnrm:nmm to know ST I e T pthterm. Use the mn_cm_‘m numbers sequence to help describe
Find the nth term of the linear sequence below : the rule.
Square Numbers—1 4 9 16 25 36 ...
11 14 17 3 6 11 18 27
C brtrdhvd Cube Numbers—1 8 27 64 125 *+2
+3 43 +3 +3 <«— constant difference of +3 1 4 9 16 25— 2

so coefficient of nis+3  Triangle Numbers— 1 3 6 10 15 ..

. Sotheruleis n?-+2 or square numbersincreased by 2

Compare with sequence of +3n
These numbers can be represented as a triangle of dots

w: sequence
3 6 9 12
+NAv h h h h is just the 3 R o
5 %8 %11 14 times tables Fibonaccisequence- 1 1 2 3 5 8 .. - Hegarty Maths Links =~~~

Nthterm=3n+2
For sequences that go up, you will have a positive coefficient

These numbers are created by adding the two previous Linear sequences — 196, 197, 198

. : —261, 263, 2
of n. terms in the sequence to get the next term Other mmnrmsnmm 261,263, 264

For sequences that go down, you will have a negative e
coefficient of n.

North East
Learning Trust




Year 10 Foundation qocmn 3 Graphs mEn_mi _A:oé_mamm Organiser

_Am<,&<o.aw and definitions

_S_%o_:ﬁ and _,m:m.n: of a _.Sm mmmBm:ﬁ

Graph — A diagram showing the relationship between two
Yariables (letters), each measured along one of a pair of axes.
w.mw_cmzo: — A statement that the values of two mathematical
expressions are equal (indicated by the sign ‘=*)

Plot — Mark out (points on) a graph.

Parallel — Describing two lines that never meet.

Perpendicular — Describing two lines that meet at right angles.

Gradient — The steepness of a graph
Intercept — The point at which a given line cuts an axis; the
value of the coordinate at that point.

The Equation of a Straight Line

m is the gradient

cis the y-intercept

X

. .M.o find Hrm ; The “Gradient” or “Siope™
.mncmﬁ_ omof a ~ < B between two points is how
; 4 ~ . 1 far UP we have gone,
: 5T/ DIVDED BY how far we
m_:n_ the : AT have gone ACROSS.
gradient et

intercept L A&
Write the kﬂmmn i
equation of ;
the line

In this example:

8
BIMIN
c=2
So the equation is
y=2x+2

The midpoint uses

: Y
The Midpoint Formula A the MEAN of the
is used fo find the exact .
‘cenfer point between iwo A(2,9) x-coordinatesand
e poimsin d Tne the MEAN of the
Xi+X2 Yitys y-coordinates
midpoint = A 0 v
x: {mean of 2 and 10) B (10, 1)
2+10 o x
— =6
2 Ais the point with coordinates {2, ).

y: ABQWD of 1 NDQ mv Bis the point with coordinates {10, 1}.

1+9 Work out the coardinates of the midpoint of the fine AB.

— =5 /
Midpoint = (6, 5)

THE DISTANCE FORMULR

v QN 3%
Length =/ (2 — —3)2 + (3 — 1)?

Use Pythagoras’ Theorem
to find the length of a° ne:

. DBE_ m mﬁm_mrﬁ _._:m mavrw

N
w

=V/5Z + 22 =29 =5.39 j

Real Life Graphs

Graphs can be used to model

real life situations, for example \_nss \Mﬂc

a car journey. - * Y

When using a distance-time m / ey oo /

graph, the following parts of a ° \ R

graph have to be considered. \ \\ 7 /,Azh.;
— N

The gradient of the graph

TIME

-_shows the speed of the car._

(@) Ooz__u_mﬁ the table of values for y = 4x + 2. — To *_:Q Y, 3c_~__u_< X
by 4 and add 2.

x> -1 0 1 2 _U
y | -3l &1 6 | 10 Paxas2=10

(b} On the grid, draw the graph of y = 4x + 2,

¥y

Plot the points:
Auu: |NV

(0,2)

(1,6)

(2, 10)

And join with a
straight line.

L4

-

L o
P

L

A

‘M;,Immma _<_m§m _._:_Am

Coordinates and Midpoint: 199-200
Gradient: 201-204

Drawing Graphs: 205-213

Parallel and Perpendicular Lines: 214-216
Distance/Speed — Time Graphs: 874-886



by

Year 10 Foundation Topic 4 >«mm and volume Student _A:oé_mamm Organiser

, ..vm:im*m_,‘ ,m:n, area of m ,w,mnnon

xm< Eo.dm m:n nmw :.ao:u e = | Prior .x:oi_mnmm..
Cone  Squarebased Tianguarbased  Sphere Name all the basic parts of a circle. Area of sector
pyramid pyramid o
7 >.‘mmo$mn3ﬂuﬂx=_n
Understand how to use formula. Tem w0
bﬁ Euonmaoqumx._._xumu
N . 7¢
Calculate the area of basic 2D shapes. i Areaof sector==x324xTT
) vo..::m.nnewmgu%x 2wr+2r Area of sectar = 27]]
Lonversion . Metric units Calculate the circumference and area of a circle. B 2 rTe X .
A change in the units Length: mm, cm, m, km T aage L2XTXT+ XD Avea of sector = 84.82cm” (2dp)
something is given in, e.g. Mass: mg, g, kg, tonnes
nng s e & & 8 18, Use and apply Pythagoras’ Theorem. = 25cm

cmtom. Capacity: ml, cl, |

Volume and surface area of a u.<i.3& o L N ,<o_:3m m:m.mrimnm m...mw ofa no,:m .

. Curved surf: £ =nri
Volume = %5 x Area of the base x height urved surtace area of cone =17

L Volume of cone = ._w nrih

S=B+=P!
Bi Emw:.mm of base Curved surface area =TT x5x 12
is -
P is the perimeter of base = 1884855
1 is the slant height =188.50
Base area = TT 12
\ Jolume of pyramid = WAN.AXN.&.;& =7.68 cm? =TTx5
~3 3 . R=5 - 7854
- Total surface area = 188.50 + 78.54 = 267.01
In the sketch, AB=4 cmand BC=2.4/2=12em H=10 otal surface area * Otem?
= Volume = TT x 52x 10 = 785.3981634 = 261.80 cmo®
Length AC= ({(#1+1.27} =4176 cm L=12 3 3

- v_.oc_m-:m _=<o_<_:m nm:m_E

v;<@_:im,u:m‘.w:1mnm m,..mm.. of a sphere

Surface Area (SA)=4 nr?

4

3
Volume (V) = 37
Leave answers in terms of &

Example: Find the surface area and volume of the sphere.
SA=d4x0127 =576z e’

4

V=-dAz12*=2
2

_Hegarty Maths Links

3047z cm®

Hence, area of a side = Wﬁ.mhvﬁbhq& =50lem?

Total surface area of pyramid = A.Hm.oL.TAw..&u =2581cm?
m=36g v=3ml

36
”\ North East d XV density of the object = mm = & =12 g/mL
Learning Trust _

Perimeter of a sector
Area of a sector

Surface area of a cone
Volume of a cone
Volume of a pyramid
Surface area of a sphere
Volume of a sphere
Density

536, 537, 544, 545
541, 542, 546, 547

587

576, 577

579

588

580, 581
725,726,727,728,729



_Am< <<o_.n_m m_.a amﬁ:;_o:m

Year 10 I_m:m« - Topic 11— mncm:o:m — Student x:oé_mamm Organiser

noBU_mﬁm Hrm mn:m«m

mxvmza_:m mﬂmn_aﬂm

Quadratic: an expression E:mﬂm the highest oamﬂ term is x2
Formula: an equation with more than 1 type of letter in it.
Brackets: mathematical punctuation that tells you which part
of the equation to calculate first.

Product: the answer when you multiply things together.
Sum: the answer when you add things together.

Factorise: write an expression in terms of a common factor.

Expand: multiplying sets of brackets together.

_umn,no_,mwim

€ Many quadratic equations can be solved by rearranging so that one side equals
zero and then factorising.

Solve x* = 2x + 15 X -2x-1520 Makethe equation equal to zero,

(x +3){x - %) =0 Find two numbers with sum ~2 and product ~15.

A

it

Ah

MH%% Eitherx +3 =0 or x-5%0
r|..||lll|.||||l. X= -3 x=§

%4& Two numbers have a product

573 of 105 and a difference of 8. (D the two rumbers 2re x and x - 8.

WM ¥f the larger number is x, form S0 x(x-8) = 105

W‘Jﬂ and solve an equation to find - * @xn -8x-105=0

W
|
N

the two numbers.

C@eNe- -0

. Eitherx +Teporx~15%0
Sox=-<Tandx-%m-Gorx=Gandx~8»T

i @.?o answers for x lead 10 two answers forx — 8,

The two numbers 2rc =T and ~15 or 7 20d 15,

Solving Quadratic Equations

2 - ) & To expand double brackets, you multiply each term in
4 NW_MM h. Emwc_,ww.mrwwplsmnm Y - 10y +20 =0 Completethe square. | the second bracket by each term in the first bracket.
= G- 9r-25e20.0 w T
y-9¢-5=0 @+ mxl\s =6x% ~ Bx +21x - 28
(-5F=5 Add5tobothsides. | i \ pe =6x%+ 13x — 28
5h itive and negati t : El
; 25 positve and negative square 6/0\% : & - To factorise into double brackets, look for two numbers
fy-%= V5 or 1-5=-V5 that add to give the coefficient of x and muiltiply to give
Leave your answers in surd form. the constant. EXPAND
y=5+V8  or  ya5-V3 J , ey XTI+ 28
(x+4x+7) T
e 4+7 4x7
FACTORISE j
Quadratic Formula
. —b * V/b? — dac rrT————. Py
& You can use the quadratic formula x = show ot 1 = 0 bodthe D st 55
Nm value of ¥ correct ta 3dp. At ? +16) x 2x = A(K + 10)
to solve a quadratic equation ax® + bx + ¢ = 0. S o+ - )

Solve the quadratic B i .
equation 3t =Sy =1, | X =t S5 V{5 -4x3x(-)

Give your answers (W -G-leD 2%

035t { Inthe formuta: 52V25s 12 Oy
je=dbess . ARTTY Sl
Dande=—t /\m <
: Tm.c - 1BATIZIONS.. - 185 (o Bsh)
: o Tm-r/\m - 0150402, = ~DIEO (0 B5l) |
| S —

K v 10x = 400 (35 required)

X+ 105~ 400 » D

Mﬂ o -
_ Tha equation
IR

— 23

~10 ¢+ V10> - 4 x 1% -40p

2
- BWFHL. or ~2501552..
* (@ Since x it 2 leogth, i must be positive,
0 x = 541 to Fdp.

factorise, so usa

Xxe

" Hegarty Maths Links

\ _ North East
0’ Learning Trust

(?) Use the information in the question to form a quadratic

equation. -

Rearrange the guadratic so that it equals zero.

@ mo?m»:mncma_\mmoinoﬁonmm:m.ooBEmm:mSmmncw«mow
using the quadratic formula.

Check that your answers make sense. You may need to reject
one solution, depending on the context.

Completing the Square: 235 — 239
-~ Solving Quadratic Equations: 230 - 234
Factorising Quadratic Expressions: 223 -228
Quadratic Formula: 241 - 242
Expanding Brackets: 160 - 166




Year 10 Higher - Topic 2 — n:B:_ms<m Tmncmsn,\ Student Knowledge Organiser

_Am< words and.definftions . . . - R i Stratified mm:,.u_m 30%_ answer oo e n_um_.m_u: mxm:.__u_m R R S
_uo_oc_mﬁ_o: Every person in a nmnm_: place Amm mn_,_oo_ town , country.) 2" Thons aaff Jmployocs I shel. A
... Sampling- A method to select a smaller a group of people from a = B ber of each typo of the school.
N nwnmm: population, n_ozm..no be .Bo_.d time wmmnmm:ﬂ. . . Tomrors T ream] Adimin other 10
Bias- A method of sampling which is not fair, favouring one particular Y 1% a1 29 ,
group of people. 80
Random- A selection process where the is no conscientious method ooy a1t o orewrlopoo Uit stk bo chosens. Cumalative
applied, to try to ensure fairness. Y oaoq frequency 60
Cumulative Frequency- The running total of all the frequencies, a C.F o °
table is used to draw a Cumulative Frequency Graph. " . G 40
Quartiles- The values (UQ/LQ) which are the middle of all values =% R | S
above/below the median. G g x 11390~ ORI RSB e 20
Inter Quartile Range- Calculated by UQ-LQ. This value shows how e PP —
spread out the dataset ignoring the outliers. 22 g56 v 3T S.a..i.wlilﬂw oLt i
e e e o ; C 10 20 30 40 50 60 70
B - i =i o Cumulative frequency Table example
. : {b} Draw a cumulative frequency graph for this information.
We select a sample from a population to be more time a efficient. It is @
important though that the people selected in a sample are chosen 2. The ages of 100 teachers were recorded. s e T i
fairly and represent the full population as accurately as possible.There The table below shiows this information. - Boxplots ( Use the C.F Graph to calculate Median, LQ and
are several different methods of Sampling, the common ones are: T ‘uay P e T C
Random: A sample which is chosen using a method which eliminates Age, x years | Frequency | frequency . - -
potential bias. E.g Drawing names from a hat, or using a random 20<x¢ 30 12 : 12 t T 3 . - : :
:c3cm_‘\Jm3m generator on a calculator or computer. . 30<x< 40 30 Iz w R L T . : : _ , i
m<2m3m=nu>mmw:v_m where nmov_m.m selected from a list at pre- . T40<x<50 28 : 75 W I _ - ; T P— _
planned regular intervals (eg. Selecting every 10t Person from the list). " B0<x<60 ; 55 : ey ; : : : o
Stratified: A method which ensures that the sample represents the ; s : : : " ’
same proportions as the initial population. Eg. If 15% of the initial ( 60<x<70 ! 8 ; /oo : EC ;mwoboo £20.000 £30,000 £40,000 £50,000
r. Ppopulation are women aged between 30 and 40 years, then 15% of B —— R — : -~ : - e mQ“DwJ\
" the sample need to be women aged between 30 and 40 years. Cumulative frequency.Graph: Key points GROMTRL A ‘ o i B
Once the grouping has been selected on a m:‘m._ ed sample then the : Immm&. Maths Links
people can be selected randomly or systematically, ‘ , : :
* Plot C.F on the y-axis. Sampling- Tasks 394, 395(Random) 396-398
* Ensure you plot each point on your graph at the upper bounds of (stratified)
each category. Cumulative frequency — Tasks 437-439 & 441
* Once you have plotted you graph you can draw on it to find Box plots — Tasks 434-436 & 440
\ zo—‘.n—‘.— .m‘mm.n Median Lower and Upper Quartiles. You can also calculate how

many people scored under or over a certain mark.

’ Learning Trust



_Am< s\oam m:n_ n_mr:_ﬁ_o:m

_u_:a_:m .%m nth \8_‘3 9ﬂ a n:maaﬁ_n mmncm:nm

_ﬁmaﬁ_o:

Sequence-terms or 3c3cma _oS ina mm.ﬁ o_.o_mﬂ
Term-the numbers/diagrams/letters in the
sequence.

Arithmetic-a sequence where the difference
between the terms in constant.

Geometric- a sequence where each term is found by
multiplying the previous one by a fixed number.

Nth term- the rule of the sequence.

Finding the nth term of a linear sequence

.5 8 11 14 17..
(AN AN A

+3 +3 +3 +3 Seehowyouget
.:.am/ : m from the 3 times
number 1 3 N+ table to the
goes here L sequence to find the
end number.
O BRIV I T

The difference between
these numbers goes here

2 3 4 56
| mg : ._N,,Wm 35,47,61
,%* e 46 ,..,m...‘.aimwm

,wa - B B S
Q' +N +N .+M +Mllll +Mn 2

N 149 16 25 % (e
10 13 a 19422 425 | wiwoim. |

AaARRg

.a,:” 36 m«..m_m,___mg_m “.
Tw _T% T TN .T, b

Substitute x, into the equation to find x,.

~Put.x, back into the equation'to findx,.

C#3n+7. 10131619 2 25

oy L : oA y - .? N.
Nt 149 16 25 %B—fE?

n+3n+7:
 nthterm= =+ma+~;

11,17,25,35,47,61 wﬁzg

_u__uo:mnn_ mmncmsnmm

A Fibonacci sequence is Hnoc:n_ U< mo_o__:m ﬂ:m two
previous terms:

1,1,2,3,5,8,13, 21, 34, 55...
C 1

Bl topather, ,
e gt e
ruxt Fzinsber

Iteration is when you _UE a .#m;_zm <m_cm into a
formula, complete the calculation and put that
answer back in until you get the answer you need.

x=31= N_E

x,=7-2(1.44224957...)

x, = 144224957...

x, = 1.602535155...

Repeat until two consecutive terms
round to the same number to 1d.p.

x,=471-2(1.602535155..)  x,=1.559796392...

andx, both round to 1.6 to 1 d.p. so a solution is x = 1.6,

You may also be asked
to rearrange a formula
in iteration.

This one said to show
that the top equation
could be wrote as the
second.

198-Linear sequences (nth term)

248- Find the nth term of a quadratic sequence
927-Finding the nth term of a cubic sequence
263-Fibonacci sequences

264- Geometric sequences

322-lteration



_Am< <<o_.n_m m:o_ amﬁ_:_ﬁ_o:m

_._o:No:ﬁm_ m:n_ <m3nm_ _._=mm

mn:m:o: 9ﬂ a mﬁm_mrﬁ _._:m

A straight line can be diagonal, vertical or hori 1.
vm_‘m__m_ Lines that :m<m ﬁ:m same mﬂmo__m:ﬁ and never meet. s y 8 The equation of a straight fine is of the form y = mx + c,
¥ N . .
Perpendicular: Lines that meet at a 90 degree angle. T — o3l e T — where m s the gradient and ¢ s the y-intercept.
. . every point on this 2. @2 jomg = every point on this
Gradient: Steepness of a line. vertical lina is 2 ) ’ 1.3 e | ely horizontal ine s 3. The gradient of a line segment is calculated as v
R - . . . - = Change in the y-direction VA E
=1 M I - . 2.0 — e -

y- :ﬁm.-.nm_uﬂ Where a linec osses the u\ mx._w . —— . o Change in e »-direction’ P N\ e \\ e
Coordinate: How far along an axis a point is. In 2D space, a point  mey-coontinate g et -] % Thex-coordinate Gradient —2.cuts "\ 2 \/ yoxisat,2)
. . . can have any value. b can have any value. y-axisat (0, ~1) e .

will have two coordinates written as (x, y). he equation of the fine s = 2. Tha cquation f the ine s = 3. — . e
. . R |mum-u»w..m|n/,.jzb 5 6%
Plot: Draw points on a coordinate grid. When asked to plot a . I © Paralletfines have the same gradient. Y -
. & Horizontal lines have equations of the form y = ¢. - cstands for : e e N e ent 3, cuts
graph, you need to plot the points from the table of values and © Vertical ines have equations of the form x = c. anumber. | A ANE st 6 -1
then join them together with a straight line. @ ItineAnasgradientm,anyline . ottt
) perpendicular to line A has gradient — .
_u_oﬁ_:m mﬂwm_mrﬁ _._:m m_,mu:m ; Solving Simultaneous Equations - mncmﬁ_o: oﬁ a m.qm_mrﬁ _._:m mxmB_o_m
2 The graphs of ivear equarions such asy ~ 2x -+ 3are i You can mc~.<m mmEE.nE_nc.:m mnauamam graphically. & n 7 Find the equation of the line perpendicular to y = 2x ~ 1 that passes through (4, 5).
Straight fines. #you piot Mu.ﬂnﬂ“u W solution is .M..ﬁ a ~.ﬂo._...n of Enonwwnﬂo:. 2 and 26 . N N \
. : you cantd or ple, for the eq —y=2and2x+y=8, 4 ; o -1h " " . . Lo L
" “fo plot 2 graph of 2 function: mdon ’ the lines intersect at (2, 4) so the solutionisx =2andy = 4. B -, n& Y =2 tha ﬁg_«a 2.0 2 ine perpendicular to it s gradient 2
® Drawupa table of values . 2 TN Gy =8 ] Yo gX+e !
& Calcuiate the valuc of y for cach value of x @ Use the information in the question to form a pair of ‘ i
® Draw s suitable geid Orcmittie ® simultaneous equatians. -1 0 /9 3 4\ 5 &* MG o5 A-mv xhee ;
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Integer: a whole number AnOC_Q _um UOm;_<m or :mmm:<mv
Prime number: A prime number has only two factors - the
number itself and 1. 1 is not a prime number

Rational Number: A number that can be whole or expressed

. a .
as fraction 3 where a and b are integers

Irrational Number : any number than cannot be expressed as
fraction. Generally, means decimal values with no
recurring/pattern

Square Number: the result of multiplying an integer by itself
Surd: An irrational number that is better expressed as a
square root. If written as decimal they would continue
forever with no umﬁmﬂ:

mcam are roots 9n ::Scm_.m zoﬁ every xooﬁ isa m:_d

N .\X%

@‘gm =ﬁ omn un m:ﬁx.& fa u 2
)\M . whchsa rolon surber (NN
32

V3 Wb’
Vit Vo7

ths con be smpified 1.2,
wheh &5 o raboed ramber

s 200 be Smpkfied 40 5, 2
wiech s 0 rofond nuker,

’0 North East

0’ ” Learning Trust

m. Tncrrdede

Method |
Simplify V24

T

Fecdors of 24

tx 24 So w24

2x 12
3x8B
¥ x6

\i\)\\lv..ll.

S Usmg preme foclor™ ™,
H .ﬂuﬂhﬂ:uﬁ_gﬂﬁﬂ!\//\lj.J
that vab = I x V&,
We SO Se2) ilu\.[\{.!\.

Method 2
Simplify V24

,_,,\_c_m_o_isw and Dividing Surds

VRN =

ﬁ%&m“% x Vb E
Bx i -V5T-vE
e VT VR 22

VBx V555 VB 15

—— A . O ————. {o—— T ——. — T— — —

VIO -vZ-Vi0-2245

>n_a5m m:a m:u:.mnﬁ_:m mcam .

& A\! MJ\IT\chﬁﬁmmﬁx ~x o Zhots of x

nﬁﬁﬁﬂﬁfmnﬂ?s:&m;ﬁ @A\W- 743 = E
8v2 - 5v2 - 32

IIIIII".II'IIII'.I‘I'II

{5 ang v are UTSEE TERMS so his
7 be simpifies o further

T c el oF H e

They ore 11 olgebral

2 =2x2x2x3x2x2

S0v86 - V2 x VZx VZ x VB VExVE
=2x2xvVZ2x3
= 7]

1 &5 imporicnt fa fry and
sivpifig o sueds before
dontt rriss things e this

. mxum:&:mmm:m_m m:mﬂ.coc,_u._m .w_‘.m.n_aﬂm

| Example
Expord and sty V3 (2 + VB mxgaoa w%_ﬁ (- V32 - |

L R e e ]



up,

TMWGG: CONTEXTS

Production Context

Released on 19/12/74. Roger Moore as 007,
Moore’s second appearance as 007.

Based on a book by lan Fleming. Produced by
British company Eon {Everything or Nothing),
same as SPECTRE. Distributed by United Artists.
Estimated $7m budget, grossed $97m+ million
world-wide.

Reflects popularity of Martial Arts film genre,
there were several Kung Fu scenes and the film
was filmed predominantly in Asia, having being
shot.in Hong Kong, Thailand and Macau. The
artwork for poster was produced by artist and
illustrator Robert McGinnis.

Historical Context

lllustrations commonly used on film posters due
to the limited technology.

TMWGG was set in the middle of the 1973
energy crisis, when the oil producing Arab nations
proclaimed an oil embargo — the decision to stop
exporting oil to USA) causing an oil crisis. This had
short and long-term effects across on politics and
the economy across the globe. This is hinted at
through the poster’s iconography of the power
plant in the lower left corner and the energy
beam- directed at Bond.

Key Terms and

conventions

Central image, protag-
onist, hero, villain, title,
star appeal, credit block,
frame, enigma codes,
signify, Extreme close

body language, colour,

Consider Propp NARRATIVE & Barthes ENIGMA theory Messages and Values

Typical of Bond films, the protagonist is flanked by Extreme close up of golden gun, pointed right at Key messages:

females wearing very few clothes: Two of these wom- Bond and someone is loading it with a bullet en- 1. Men are heterosexual. Men need
en are highly sexualised: bikini-clad, slim with perfect graved with his name. The reader can interpret this {5 pe Masculine: strong, powerful
hour glass figure and _o.:m flowing hair. Body _m:mcm.mm” as an atfempted assignation on the :mqo..s\m. can and intelligent to be successful.

one mv_um.mﬂ to be looking mﬂ the golden gun assassin  only see Em hand of the m_‘_ooﬁmq creates intrigue 2. Women need to be feminine: they
whilst pointing at Bond whilst the other seems to be  and an enigma code for the audience, as we want to . . .
putting her arm out in front of him, seemingly pro-  find out who is trying to kill Bond. Propp’s character are sexualised, attractive and allies
tecting him. Barthes might argue that this is another  theory- we would consider this person to be the to men.

enigma code, suggesting to the audience that Bond  ‘villain’.Surrounding Bond are even more enemies 3. Minority groups are dangerous.
has female allies and enemies, yet all look the same  and people trying to kill him. These signify action/

making it hard for him to distinguish between them. thriller genre.

MEDIA LANGUAGE: How the FILM POSTER communicates with the audience using the different codes:
‘ xﬁm&_n Codes . [EEWrittcnicodc L

1. Central image: mid-shot of James Bond, smartly 1. Bond’s attire connotes business and professionalism 1. Actor’s name(s) placed at top to entice audience -
dressed holding a gun across his body. Suggests he isthe and the gun, an iconic part of Bond’s ‘uniform’, signi-  common convention. Roger Moore- household playing

facial expression,

enigma codes.

protagonist, so probably a ‘good guy’.- Propp’s theory fies danger and action. Bond in the previous film, Live and Let Die. Name placed
- ‘hero’. 2. Extreme CU of gun at bottom pointed at Bond, directly above Bond’s image to reinforce the link.

2. Direct address- Bond looking directly at the audience, loading with bullet with name on, so audience know 2. Title appears with book author at the bottom.

making eye contact. The intensity of his stare and lack someone is trying to kill him. 3. Credit block, detailing industry information such as

of smile connotes how seriously he expects to be taken. 3. Colour of the gun (gold) connotes wealth other star’s names, directors and producers, is much

and appears calm despite the chaos surrounding him. 4. Explosions communicate action in the film.and link  smaller and tucked away so as not to divert the audience
This informs the audience of one of his great strengths,  to historic context of oil embago away from the main image or the rest of the poster.

his ability to keep his composure in any situation. 5. Female costumes of bikinis and slim

Minority groups
At the start of the 20th century, representations of minority ethnic groups supported
ﬁ the dominant stereotypes of the time: to be pitied, to be laughed at, the exotic and/

REPRESENTATION Ethnicity, Gender and Issues

UKSs favourite secret agent; charming, suave, good looking and, most importantly, — or dangerous. While society was progressing towards racial equality by the 1970s,
always caught the ‘bad guys’. This representation of masculinity told audiences some of these stereotypes were still in evidence in mainstream films. In addition, it is
that this was what a man had to be at the time — intelligent, strong and prepared  interesting to consider this poster in the context of the move towards gender equality
to put yourself in dangerous situations. If you were all of those things, you would  and increased women’s rights in the 1960s and 70s.

be successful, gain respect and women would want you. The assumption then is
gain resp y P Male Gaze

that men should also be heterosexual.

Feminist Laura Mulvey coined the term the ‘male gaze’ which discussed how the au-

E dience is put into the perspective of a heterosexual man. In this poster, the audience

Two of the three females on the poster are wearing bikinis which show off their s forced to focus on the curves of the women’s bodies, putting them in the eyes of a
slim bodies. Both are heavily made up and wear earrings and bracelets as accesso- male. This suggests all men look at women and communicates to the audience that

ries to the ‘outfit”. The two women also have long flowing hair. this is what an attractive woman looks like. Mulvey argues that this denies the women
A feminist theoretical perspective would argue that this sexualised representation human identity and relegates them to the status of objects to be admired for physical
of women suggests that they are little more than bodies to be looked at. appearance. This could be further argued as the producer of the artwork was a male,

Another female, however, is dressed in a karate uniform and is shown in a martial Robert McGinnis.

arts pose, and appears to go against this stereotype. She too has flowing hair but ’

this time it is much darker and her skin tone suggests she is from a different ethnic HALL'S RECEPTION THEORY
group to the other females. This goes some way to explaining why she seems not
to support the dominant sexualised stereotype portrayed by the other females;
she is seen as exotic, different, the ‘other’

The producers have encoded certain ideas into this text but it depends on the
viewer’s own social and cultural context how this image is decoded:

DONIMANT - NEGOTIATED - OPPOSITIONAL
For example, the depiction of a female doing martial arts could be seen to
support the idea that she is dangerous and to be feared or could be seen as a pro-
gressive wav of looking at females. those who are strong. confident and fearless.



Contexts

o Released in the UK on 30
September 2021.

« global premiere at the Royal
Albert Hall on 28 September 2021.

¢ Starring Daniel Craig as 007, this is
his fifth and final performance.

e The film was produced by the
British company EON (Everything
or Nothing) Productions and
distributed in UK cinemas by
Universal Pictures. No Time to Die
is available to stream on Amazon
Prime. .

« The release was significantly
delayed from April 2020, following
a change in director and the
COVID-19 pandemic.

Industries

answers.

fans of the actors involved.

e Barthes’ enigma code: The film poster create a sense of
mystery regarding the plot, characters and the fate on Bond
himself, leading an audience to want to discover these

e Inherited audience: Some audiences are drawn to this film
because they are already fans of the long running franchise or

¢ Polysemic responses: Audiences can have different reactions
to the portrayal of characters in this poster.

office.

¢ The film’s budget was an estimated $250-301 miillion,
making it the most expensive Bond film to date.
e It has grossed over $774 million worldwide at the box

¢ The first teaser poster for the film was released on
James Bond Day, 5th October 2019, as part of a global
marketing campaign for the film.

Media Language

Image

e Iconographic props (such as the gun and
the mask) clearly establish the genre as
action and the character as a Proppian
villain.

e The plethora of action shots create a
sense of danger and threat, hinting at
elements of the narrative.

No Time to Die leaves the audience worried
about the fate of their favourite protagonist
from the long running franchise. (Barthes’
enigma code).

The credit block lists the plethora of reoccurring
actors in this film, using their star appeal to
draw in an inherited audience

Representation

e Bond as the largest figure clearly
establishes his role as the Proppian hero.

e The background features the iconic “007”
logo that would appeal to avid fans of the
long running franchise. It also feautes a
gun to appeal to newer fans of the action
genre unfamiliar with Bond.

Race

o Traditionally, Bond has adhered to strong,
and often negative, racial stereotypes.

e Minority races are often portrayed as
“dangerous” villains (alvarado’s racial
stereotypes).

o Still heavily dominated by a white cast.

e However, Naomi’s powerful portrayal
creates a positive and dominant
representation of race.

Traditionally, Bond has adhered to strong,
and often negative, gender stereotypes.
Still centred around a battle between male
heroes and villains.

Paloma’s (Ana De Armas) glamorous and
low cut dress is typical of how ‘Bond Girls’
have been depicted by the franchise.
However, Naomi’s military attire and
serious gesture codes reflect the shift in
the Bond narrative towards more
contemporary depictions of women.

+ Create hypermasculine
representations of excessive
manliness that force a male
audience to feel inferior.

e There is still a female damsel in
distress that a male Proppian hero
must rescue.




e Fortnite is an example of GaaS model where there
is a constant stream of in-app purchases after the
initial purchase or providing the game for free.

Social and Cultural contexts e Players can pay for weapon, costume and grade
upgrades rather than ‘grinding through’ the
gameplay for them. Players use V-bucks to
purchase these items. Upgrades are cosmetic.

e Upgrades are only available for a short amount of
time which makes people more inclined to just
buy them.

e Inrecent years, the diversity of game genres
and platforms on which they can be played
has meant the gaming industry has exploded.

e Gamers are no longer young, geeky men.
Over 50’s and a narrower gap between male
and females.

e Range of genres of games (first person
shooters, puzzles and learning tools) and
platforms (consoles, tablets and smart
phones) has led to growth in the industry.
Gaming has increased social interaction.
People develop alliances, friendships and
even relationships.

Regulation of the Media

In 2012 the PEGI system was incorporated into the Video
Standards Council. Fortnite has the age rating of a ..HN. for
‘frequent scenes of mild violence’.

o
°

e Produced by Epic Games,

: faunched in July 2017

, e The Fortnite franchise is a series
of multi-player free to play
battle ground games.

It appears parents are more concerned with addiction
rather than violence.

e

[t

New Technology and Convergence

—

Games. In 2012 it was worth
$825 million. In 2018 it was
worth $5.8 billion.

The genre of Fortnite could be
considered battle game and
construction game.

e The franchise has helped Epic B e Fortnite is popular because you can play it on

a variety of platforms. You can even change
devices mid-game.

Epic Games use an operating system called
Unreal Engine. This is available on their
website and encourages audiences to try it to
develop their own games. This system has
been used in other titles such as Batman &

¢ With video games comes moral panic. These ﬂm:mm
from violent games may encourage ‘copy-cat
behaviour’ or worries about addiction and the
amount of ‘screen time’.

e Fortnite has very little realistic / explicit violence.

Infinity Blade. This is cross-media It has cartoon like graphics.

e convergence. e Very little racism / misogyny as players are
randomly assigned gender, race and ‘skins’ at the
start of each round.

e Game play also has a collaborative nature.

e Main concern around the game is ADDICTION

e Consider passive and active audiences.

¢ Players work together to deconstruct and rebuild
the game environment.

e Another part of the franchise allows audiences to
design skins, emotes and landscapes

-
-
Q

R .,

Blumler and Katz's Uses &
Gratifications Theory ‘Escapism’ and
‘social interaction’ and ‘personal
identity’.

The use of gamer and non-gamer
celebs as role models could link to
Dyer’s Star Theory
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Epic Games - Institution

It was started by Tim Sweeney in 1991 originally run from
his parent’s house. This could be why they let their
audience have access to this.

Tencent — a Chinese investment n_03_om:< bought a 42%
stake in Epic in 2012.
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Historical Context:

e Originally established in 1951 to educate farmers
which, it was hoped, would increase food
production after the second world war.

Social and Cultural Context:

e Wherever possible, The Archers happens in real
time i.e. it portrays events taking place on the
date of broadcast, allowing a variety of topical
subjects to be included. If a real-life event can be
predicted, it is often written into the script. Even
unforeseen events have been weaved into the
script with scenes being re-written and re-

recorded at short notice such as the 9/11 attacks.

moem_ Context?

e The domestic abuse storyline of Rob and Helen
has opened the gates to less talked about topics
and issues in recent years. The listeners’
privileged position of being able to eavesdrop in
on characters’ private conversation has added a
very real touch to the storyline. The realistic
portrayal of this storyline has even prompted
audiences to raise over £100,000 for charity.

gnmn ,m:&,m.:.nmmw find radio soap opera have been
like a familiar friend: comfortable listening with
no shocking story lines.

To appeal to m(o::mm_. m:&m:nmm_\ radio soap
dramas now mimic conventions from TV soap

. . . I
opera: rea life narratives with excessive story

Traditionally, radio soap operas mm..mmﬁmm Eo:‘_msw
by focusing primarily on women'’s lives,
particularly family relationships, domesticity and
marriage.
Multi-strand narratives: Different narratives and
character arcs running at the same time appeals
to a variety of different possible audiences.
wogomno:o:..mn,m_.o:u >wn£ the audience for The
Archers consists mainly of well-educated middle-
class professionals, most of whom are middie
aged and above, white women.
,Zo_._-q:_.m_ mc&msnmi Because of the convergence
of online media, some audiences are from urban
areas, even global audiences, who enjoy the
escape into a rural British lifestyle.
Uses and m..mamnmmo:m"% Some audiences listen to
The Archers for:

o for personal identity, to compare their life

experiences with those of the characters

o to be informed or educated about rural life or

frouietiniatiahiuivatvey |
topical issues that the storyline may be dealing
with
o for entertainment/ escapism from their
everyday life.
o for social interaction to discuss with
family/friends or by continuing the

conversation on Twitter or Facebook

ic broadcasting sérvices: The BBC is funded
by the public (government taxes or license fee).

e The BBC has a public service remit (to educate,
inform and entertain).

e Radio broadcasting is regulated by Ofcom.

e Convergence: in order to keep up with new
audiences, The Archers is now available on a
variety of media formats c.mn__o\ vonnmmﬁ wwn
iPlayer/ website/ social a/ maga

e Brand: The Archers is the BBC's ‘30.4 listened to

programme online. It is extremely important as it

has mcm«m:ﬂmmn_ audiences.

Production: Producing a radio series like The

Archers requires tight schedules and long term

planning.

o Biannual meetings to plan story lines.

o Monthly script meetings.

o Recording takes place every 4 weeks. Actors
online receive scripts a few days before
recording.

o Episodes are then broadcast 3-6 weeks after
recording.

Key Terminology

e Convergence: How muitiple media formats can be
accessed on one device, anywhere/ anytime.
Regulation: How media is checked and monitored
for mnvqonzmﬁm age ratings and complaints.

alti ed:narrative: A narrative that
no:ﬁm_zm a_mmﬂm:ﬁ stories or plots running
m_ozmm_am each other.

2 A broadcast of a programme that
usually includes all episodes from a particular
week. This allows audiences to catch up.




Media Language — Key Audience

Diegetic sound: Sound that you can see
the source of. Used to create a sense of
realism. Luther’s maverick crime solving methods.

c Oppositional reading: Audiences may
disapprove of his violent responses to
challenging situations and be disappointed at

Binary oppositions: direct opposites the lack of closure as Alice walks free.

like good and evil/ strong and weak. o Audience consumption:

Context : E J >m¢<m audiences: Some mca.mmznmm Emﬁ.n:

: ; : crime drama to solve the crime alongside the

Representation lead protagonist.

e Uses and Gratifications:

T Stock n_.au.....mﬂm..wnw ¢ Personal Identity: Black males make identify

Non-diegetic sound: Sound editing into
the shot. Used to create tension.

Product Context:

¢ Produced by the BBC, (PSB) publicly funded

broadcaster. o Maverick Detective; Luther has with Luther or aspire to be like him.
¢ Aired on BBC 1, Netflix and BBC worldwide £ both anger issues and a troubled e Information: N/A
Convergence with other technologies. past, which can be said to impair e Entertainment/ escapism: Watching intense
Social/ Cultural Context: his judgement and crime solving plots such as Luther can help audiences
methods. escape boring everyday life.
¢ Gender equality: the female representations reflect o Femme Fatale: Alice is e Social Interaction: Audiences may enjoy
that women have gained power in the workplace: represented as a dominant talking about the developing character arcs.

woman using her sexuality to
intimidate Luther.
o Victim: both Zoe and Alice are
represented as the Proppian
“damsel in distress” within the

narrative.

o Rose — Detective superintendent (Luther’s boss)
o Zoe—Humanitarian lawyer
o Alice — a brilliant adversary/antagonist femme
fatale character.
¢ Racial equality:
o Luther’s name couid be a reference to Martin
Luther King, the American civil rights leader.
o Luther’s ethnicity id not a major focus in the
plot, reflecting greater social equality.
o Lutheris a clear black role model, as a senior
officer in the police.
¢ Representation of London:
o Many establishing shots of central London,
modern buildings and skyscrapers.
o Reflects the contemporary culture and success
of London as a major financial/ business centre.

Industry
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Contexts

1 Target audience

VALs

¢ Masthead: The title of the
magazine

e Coverline: hints at the biggest

articles in magazine.

Spornosexual: a muscular

representation of men

o Metrosexual: a fashion-centric
representation of men

GQis aimed at ABC1 men

aged between 20 and 44

Has now broadened to appeal to,
inspire and empower younger readers
too.

Consumerist culture of men that
frequently purchase products they
see in the magazine.

e Promotes the idea of the “all-round
man” (men must excel in all areas).

¢  “The greatest magazine around. The
men’s magazine with an 1Q.
Whether it’s fashion, sport, health,
humour, politics or music, GQ, covers
it all with intelligence and
imagination.”

Media Language

_Bmmm, |

e Launched in 1931, GQ beganits lifeasa
quarterly publication called Gentleman’s
Quarterly, aimed specifically at fashion
industry insiders.

e Rebranded in 1967 to GQ.

e GQis a multiplatform brand. Each issue is
published in print and digitally; it has its
own acclaimed website and apps.

e 212,000 monthly print readership

o over 2 million monthly unique online
users, and more than 2 million social
media followers.

e Historically, British black men have been
underrepresented on magazine front
covers due to systemic racism within the
industry.

e [n December 2018, Raheem Sterling took
to social media to highlight racism in the
British press.

e Gary Lineker has called him “perhaps the
most influential player in the game” off-
field.

e There is a long shot of footballer and
celebrity Raheem Sterling, ensuring the
magazine has star appeal for the
audience.

¢ The black wings strongly establish him as a
Proppian hero and BAME icon defending
against racism in football.

GQ calls Sterling a “Guardian Angel”, which
connotes a sense of guidance and protection,
suggesting he is looking after players and the
values of the game by rooting out racism.
“Why it’s finally OK to own a belt bag”
reinforces a metrosexual representation that
focuses heavily on aesthetics.

Representation

¢ The choice of gold font, connoting luxury
and exclusivity — traits that the brand
associates with.

¢ The coverlines frame his expose muscular
abs and chest, reinforcing his role as the
epitome as a spornosexual male icon.

Race

e Raheem Sterling challenges Alvarado’s
threatening, aggressive and “dangerous”
stereotype of black males.

¢ He strongly acts as a successful role model
for a BAME audience.

s Creates an inclusive attitude to race to
challenge Hall’s idea of “Otherness”.

e Epitome of British success as a key player
and icon for the England football team.

Raheem Sterling is a powerful role
model for a young male audience.
The choice to represent Sterling
topless with his tattoos on show
reinforces the stereotype of men
as having to be hyper masculine,
strong and muscular.

Tattoos represent his nurturing
role as a father (modern

(LR TN

e His thick silver jewellery reinforces
the capitalist ideology that for-a
man to be thought of as successful
you must be wealthy and make a
lot of money.

o Conspicuous consumption: His
‘jewellery is a prop used to
highlight his wealth to others.




Contexts

Target audience

! VALs

e Masthead: The title of the
magazine.

¢ Typography: The style of the

writing.

Colour palette: the colours used in
the image.

e Direct address: when the media
text talks directly to the audience.

e Vogue is aimed at ABC1 fashion and style
conscious women who are educated,
sophisticated and wealthy.

o traditionally targeted an older female audience
of 30-45-year olds.

e Has now broadened to appeal to, inspire and
empower younger readers too.

o much more culturally diverse
audience, under the influence of the

new editor.

e Image-centric (image is the most
important thing).

e “British Vogue is the authority on
fashion, beauty and lifestyle, and
is a destination for women to
learn, be challenged, inspired
and empowered”

Media Language

Image

Written Language

z_wﬁ issued as a high society diary in 1892.
Became focused as a women’s fashion
magazine in 1902,

British Vogue launched in 1916.

Former model Edward Enninful was
appointed editor in December 2017.

In 2021, British Vogue had an average
circulation figure of 191,000 issues.
Vogue claims to have 5.3 million digital
subscriptions and a social media following
of 14.3 million.

Historically, the editors of
mainstream women’s magazines
claimed that featuring models of
colour on their front covers badly
affected sales of the magazine.
Naomi Campbell has famously
challenged the industry for this
systemic racism throughout her

career, advocating wider diversity

e The headscarf she wears indicates her
culture and her religion and is an essential
part of her identity.

e She engages the reader with direct eye
contact and a slight smile —a mode of
address that is personal and welcoming
but confident and self-assured

e The word vogue means something
that is trendy or popular.

e The caption: ‘Survivor, Activist,
Legend’ is a lexical set of strength and
empowerment for female audiences.

Representation

¢ The all-uppercase serif font gives it a
classic, architectural look, an aesthetic
that commands respect.

e The use of the dominant colour red in this
context suggests celebration, joy, luxury,
power and strength, a call to action to
identify with Malala, the
survivor/activist/legend.

Race

e Challenges the negative stereotypes
surrounding the Islamic identity
{especially with Islamic woman).

e Malala is a powerful role model for BAME
audiences as an empowered activist.

e Costume and colour contribute to
celebrate her cultural heritage,
challenging the white-washing common in
the magazine industry.

e Malala is a powerful role model for
young female readers in modern
society.

e Malala is the Proppian hero of her
own life story.

e Strongly challenges the negative
stereotype that women are weak and
need a male rescuer as a Damsels in
Distress. .

e Positive representation of youth culture:

e Challenges Wolf’s beauty myth,

e (Cultivation theory: creating a modern

she is an inspirational figure who has
achieved so much, against all odds, at
such a young age.

prioritising personality and education over
appearance.

culture that supports gender equality.




GWA HISTORY Knowledge Organiser - Topic : Weimar Germany, 1919-29

Timeline

—
-

9th Nov 1918

Kaiser abdicates {leaves throne) and flees Germany.

9th Nov 1918

Weimar Republic is set up.

11th Nov 1918

WWI ends. Armistice agreed after German surrender.

Key Words/Terms
Armistice Agreement to stop fighting. Germany asked for it in 1918.
November Name given to the Weimar politicians who accepted the
Criminals armistice which ended WWH1.

Jan 1919

Spartacist Uprising (left wing) in Berlin and other cities.
Crushed by army and the Freikorps.

Constitution

The system of laws and rules in a country.

26% Jun 1919

Treaty of Versailles is signed.

S OV s || M0

3 Mar 1920

Kapp Putsch — attempted takeover by Freikorps led by
Wolfgang Kapp. Failed due to lack of support.

Reichstag The German Parliament.
Article 48 Gave President emergency powers in times of crisis.
Proportional The number of votes won in an election, determined the

Representation.

number of seats in the Reichstag.

Chancellor Head of Government, chosen by the President.
\Q Jan 1923 Ruhr Crisis — France invades the Ruhr over reparations leading President Head of state and military, voted by people, could use
. to huge problemsin Germany. - Article 48 and had power to dismiss government.
&. Jun 1923 Hyperinflation causes huge social and economic problems. Coalition A government of two or more political parties.
ﬁ Aug 1923 Gustav Stresemann becomes Chancellor (but only for 3 Extremist Groups that believe in violent or radical ideas.
monthsl)
. ] Communism Left wing groups who believe everybody should be equal in
10 Nov 1923 The Munich Putsch — The Nazis try to overthrow the Bavarian the no::m%< m:_w_ it should be run dﬂ_w\« ~:m<<<o_‘xm1m a
government and cause a revolution. They fail. 16 Nazis are i
killed and Hitler is arrested. Fascism Right wing groups who believe in a strong ruling leader.
10 Sep 1924 Stresemann signs the Dawes plan which ends hyperinflation. Freikorps WWI veterans who formed private armies.
11 Dec 1925 Germany signs Locarno Pact with France, Britain, Belgium and Spartacists Revolutionary communists who wanted Germany to be run
Italy by the working classes. Led by Rosa Luxemburg.
L2 ] June 1929 Young plan agreed. Putsch A violent attempt to overthrow the government.
13 Oct 1929 Wall Street crash leads to the Great Depression. Reparations £6.6 bn fine placed on Germany following Versailles Treaty.
Key Individuals Demilitarised No military forces are allowed in the area.
14 | Friedrich Ebert First Chancellor of Germany and later President. Article 231 The Versailles ‘War guilt clause’ blaming Germany for WWI.
15 | Gustav Stresemann Chancellor (Aug-Nov .va m:.a Foreign BN:m.m.ﬂ.m_, (1923 Hyperinflation Extremely high inflation, where prices rise and the value of
- 1929). Solved hyperinflation and Ruhr crisis. money plummets and it becomes worthless.
Brought period of stability to Germany.
) - Rentenmark Temporary currency introduced by Stresemann to end
16 | Kaiser Wilhelm lI King of Germany, who fled Nov 1918. hvperinflation.




CMb5: Purpose

Description:

Every media product is created for
reason and this is known as purpose.

» To display information normally in a
formal language because it's
important.

Examples:
*  Maps
+ Books
* Leaflets

OCR Cambridge National in Creative iMedia
R093: Creative iMedia in the media industry

Entertain

Advertise/Promote

» Thisis to provide a
narrative/plot/storyline that entices the
user to consume the content.

Description:
+ This is to persuade the consumer into
committing to a product or service.

Examples:

¢ Films

* TV shows

+ Books

*  Apps

* Video games

Examples:

* Posters

+ Billboards

* TV advertisements

« Radio advertisements
» Banners on webpages
+ Social media posts

Influence

Description:
» To persuade consumers to change
their behaviour.

Examples:
+ Health advertisements

* Educational advertisements
» Political advertisements

* This is to provide consumers with
information that enables them to
learn/gather new information

Examples
* Text books

*  YouTube videos
* Online learning platforms

Description:

Content creator
Copywriter
Campaign manager
Photographer
Web developer
Web designer
Animator
Games developer




OCR Cambridge National in Creative iMedia
R093: Creative iMedia in the media industry

CM14: Wireframe

Description:

4,>.._o_m::_:©_QoncBm:ﬁ:md,_.. strate
“how a product will look. It will show

‘Components of a wireframe

‘how pages/screens are linked Images = ——— | Hierarchy
together and is used n03303_< for | These are usually displayed as a < The importance of a page
websites m:n_ apps. Wireframe | box with a cross which represents | - | is created by using
focuses more on how the Em_um_ﬁm | animage. M headings, most often bold
will ook and will be used by a ?o:ﬁ-_ " [Video , odﬁ wmwsmqmzm._@:ﬁmaaﬂmxﬁ
, = | Migeo ” | of different sizes an
m:a web n_m<m_o_um_1 The word video is displayed location.
Hardware & Software used: inside the box. . - ” - | Links
-— Text e | Links are represented
Hardware: These are usually displayed asa | 1 most often as blue,
* Mouse | box with straight lines, the actual underlined text. Links may
«  Keyboard copy or by a placeholder text EnEEREERE also be a different colour,
« Monitor such as Lorem ipsum. “ | keeping in line with a
+ Touch screen : | I [—] [=] [—] particular visual design
A Annotation | S— N direction
: P _u, -omPp _ This allows the designer to : ‘ ; L
- . . | explain how different elements
Software: | are linked together.

* Word processing software
+ Desktop publishing software

Photographer, Web designer, lllustrator, Graphics artist, Web developer

16




1.2.4 DATA STORAGE -

BINARY

BINARY SHIFTS

A c_:mQ shiftis when we move all the digits in a binary :c:..cmﬂ
. either left or right a certain number of places.

s Left shifts multiply a binary number (makes it bogger)
- Right shifts divide a binary number (makes it smaller)

_Am<<<0_»_um B
Data All oo:..n_,:mw w<m\6,3m use and uqoommm mm,_ﬁ, , data om: ooSm in Em.,*oﬂ.i 96 , ‘
._.<v.mm -Text AO:m_,QOﬁmv mocza _<_o<_:@ image ?.amov _Bmmmm%_oﬁcﬁmmv z:BUmqw ,, .m. . Binary w,:,ﬁw .
All data must be converted/encoded into binary in order to be processed by a KA KR S
computer, binary is all a computer understands. Computers are made of
Binary transistors/switches that use electricity, they are open/on (1) or closed/off (0). .
« The only number system a computer can understand. 1o Leftshift
+ Base 2. Uses only 1s and Os. Os represent off and 1s _.qummma on. example (<<)
Denary/ -« Ourusual number system. m g.1,17,29,:138.
decimal ¢ Base 8. Cmmm 10 a_mmaa ::chﬂm. o 53:@: 9.
Right shift

_BINARY TO DENARY Bmo__s.f R PR ' cxample 53]

You need to know how to convert c_:m_.< 8 denary :ca_um_.w up to m a;w The oo_c_.::
values go up by x2 each time. See cm_o<<

. x2. X2
128 (2) 64(2%) “32(29° 16 ANMM 8 mav Mﬁ» ,Q ., | 3,
1 0 1 1 0 1 1 0

When calculating the value, you only add up the columns with a ‘1’ 12 The four rules

in them. The example above would be:
128+32+16+4+2=182

n Place values

13 Examples

that column too:

73-64=9left 14 Exam tip

15 Overflow errors

._.:,m ﬂmmﬁ o::m oo.EB:mE am ”Nma.;
Our numberis: 11001001 -

A left shift by 2 places has been
performed here. The number 42
" becomes 168 (42*4). Always add Os for
Y the missing digits (in red).

010

0 0 1

0 1

A right shift by 2 places has been
performed here. The number 204
becomes 51.

Always add Os for the missing digits (in

0+0=0

0+1=1
1+ 1 = 10 (because this is 2 in binary)
1+ 1+ 1 =11 (because this is 3 in binary)

1
10001101 10100101
+01001000 +01011010
11010101 11111111

To check your answer, convert the binary numbers to denary and add
them up.

Sometimes, an 8 bit binary number will become a 9bit binary number
when you have added two numbers together (if the number is bigger
than 11111111 (255). This is called an overflow error.

When you need more bits than a byte to store the number.



‘_ .2.4 DATA STORAGE - HEXADECIMAL

, _Am<<<0x0m - . WHY HEXADECIMAL?
1 Hexadecimal ~ A base 16 number system using numbers 0-9 and letters A-F. " Hexadecimal is used as an alternative to binary as itis
S - T e e e : : " shorter, easier to nmq:mscm_. quicker to enter and less
5 Denary /  Our usual number system. E.g. 1,17, 29, 138. . : ; L § mcmnmvﬁ_c_m to m:oqm

decimal * Base 10. Uses 10 different numbers, 0 through 9. 11 - Why use :mxmnmn::m_w

SR s 3 : - S s Exam tip: Mention: it om: wﬂoqm an8 c_ﬁ binary number in 2
Al data must be converted/encoded into c_:mQ in oamﬂ to cm v_,oommmma S ; e ~ . digits/characters,

by a computer, binary is all a computer understands. Computers are *
made of transistors/switches Smﬁ use m_moﬁo_q they are oum:\os 3 or
closed/off (0). S . : :
+ The only number system a computer .om:. ::am_,mﬁm:a. .

+ Base 2. Uses only 1s and 0s. 0s represent off and 1s representon.

3 | Binary

Denary 0 1 2 3 4 5 & 7 8 8 10 1 12 138 14 15

4
Hexadecimal 0 1 2 3 4 5 6 7 8 9 A B C D E F
16 ;
Example 1 - C5: Put the hex number into the 16 column 2 Unit column cla
5 correct columns. Because it is a base 16 . 10
number the columns go up by x 16 each time. C 5 sorafains |

1troof1oto |

Multiply the number in 16’s column by 16 and = C=12indenary  §=S5in denary

6 Itiply th ber in units col by 1
multtiply the number in units coiumn by 1. 12x16=192 ~ 5x1=5 ‘ ~ Split the number in half and
192 + 5 =197 3 work out what they would
7 - Add both values together . be if they were two separate
C5 =197 four bit binary numbers
g [Example 2 - 9D: Put the hex number into the 16 column _ x76 Unit column
correct columns.
9 D
g Muttiply the number in 16's column by 16 and 8=9indenary D =13indenary
multiply the number in units column by 1. = = i =
i ! _ y 9x16 = 144 13x1=13 Exam tip: convert back to 11 x16=176 CiA
144 + 13 = 157 16  denary to see if you are 15x1=15 12j10
10 Add both values together correct T T

oD =157 176 + 15 =191 eafiono



Year 10 French - Knowledge Organiser —

Schoo

| vocabulary (general)

to forget

apprendre to learn en béton made of concrete ouvert open

batiment building enseigner to teach parler to talk
bibliotheque library environ about, approximately passer un examen to sit an exam
bulletin scolaire school report étroit narrow pause déjeuner funch break
cantine canteen études studies pendant during

car de ramassage school bus étudiant student penser to think
champs field examen exam permettre to allow, permit
college secondary school fermé closed porter to wear, carry
commencer/finir to start/to finish instituteur/institutrice primary school teacherg professeur teacher
comprendre to understand interdit forbidden récré break

couloir corridor journée scolaire school day regle rule

cours lesson langues vivantes modern languages réglement scolaire school rules
démodé old-fashioned legon lesson rentrée back to school
devoirs homework lecture reading résultats results
directeur/directrice headteacher lent slow retenue detention

droit right lire to read réussir un examen to pass an exam
écrire to write bien/mal équipé well/badly equipped salle a manger dining hall
école primaire primary school matiere subject salle de classe classroom
éléve pupil notes marks, grades savoir to know
emploi du temps timetable oublier semaine

week




Year 10 French — Knowledge Organiser —

School vocabulary

Sophisticated opinions and DOPs

School uniform

Narration and routine

mMM_ﬂE mintéresse what interests me is bijoux jewellery a I'heure on time
ce qui m’énerve c’est what annoys me is chausettes socks a la fin at the end
MMHM_.“E me rend triste what makes me sad is| chaussures shoes apres Ga after that
ce qui 3m~_.m:n_ E:mﬂ makes me happy chemise shirt aprés-midi afternoon
heureux c’est is
ce ncmm:mi.dm le what I like the most is| cravate tie au début start
plus c’est .
Mme“cm jaime le moins what I like the least is| jupe skirt aujourd’hui today
Mﬂ_wmﬁ\_mmmﬂm préférée mé favourite subject magquillage makeup d’abord at first, firstly
je l'adore Ilove it pantalon trousers demain tomorrow
je l'aime Ilike it pergage piercing en retard / tard late
je ne I'aime pas I don't like it sac bag enfin at last, finally
sac a main handbag ensuite next
School rules veste blazer, jacket hier yesterday
arriver en retard arrive late vétements clothes le matin in the morning
courir dans les couloirs run in the corridors court / courte short le soir in the evening
étre a I'heure be on time maintenant now
faire attention pay attention plus tard later
faire ses devoirs do your homework puis then
manger dans les couloirs eat in the corridors tot early
travailler dur work hard

tous les jours

every day




Year 10 French — Knowledge Organiser — School adjectives

BAGS adjectives

All other adjectives

BAGS adjectives are your friend. Their position in a
sentence is exactly the same as English. For example:

il y a un grand champs de sport = there is a big sports field.

Nous avons une vieille cantine = we have an old canteen.

Beauty beautiful, attractive, pretty

Age new, old

Goodness good, bad

Size big, small

All other adjectives in French come after the thing they are describing.
Think of colours, for example:

Le francais est au couloir orange - French is on the orange corrdior
Other examples include:

On doit porter une chemise blanche = We must wear a white shirt.

La journée scolaire est trop lente = The school day is too slow.

Common BAGS adjectives

Adjectives and modifiers

beau / belle

joli / jolie

nouveau / nouvelle

vieux / vieille

bon / bonne

mauvais / mauvaise

Using modifiers adds variety to your speaking and writing. Use
modifiers before an adjective.

Le dessin est trés créatif = Art is very creative.

Nous avons un assez vieux batiment = we have quite an old building.

grand / grande

tres vraiment

petit / petite

assez extrémement

trop un peu




Year 10 French - Knowledge Organiser - School

Narration DOPs
It is important to sequence events using narration phrases. This | Direct Object Pronouns (DOPs) refer to something previously
helps organise what you are saying or writing. mentioned without repetition. They are a great way of improving
quality of language in writing and speaking. You also need to be

There are generally three stages of narration: able to track DOPs in listening and reading. For example:

Beginning | au début, d’abord, le matin, maintenant L, ., ,

Ce qui m’intéresse le plus c’est I'EPS car j'adore I'EPS
Middle ensuite, puis, apres ¢a, plus tard, 'aprés-midi (What interests me the most is PE because | love PE)
End a la fin, enfin, le soir .
... with a DOP:

Within each stage you can combine or repeat multiple events, Ce qui m’intéresse le plus c’est I'EPS car je I'adore
for example: (What interests me the most is PE because | love it)

Ensuite j'ai les maths puis la technologie et apres ¢a le dessin.
Next, | have maths then technology and after that art.

Nouns as adjectives Modal verbs and negatives

Don’t overthink this, but sometimes a word which we think of To describe what you can and must do, we use modal verb
as a noun operates as an adjective. For example: structures. To say what you can’t and mustn’t do, we use the same
structures but with negatives.

maths teacher / classroom / sports ground on peut

In French we must swap the words and use ‘de’ to link the two on ne peut pas

parts, e.g. prof de maths, salle de classe, terrain de sport on doit

on ne doit pas

It is also common to see the adjective scolaire to mean school:
bulletin scolaire = school report The verb following these structures must be in the infinitive

uniforme scolaire = school uniform (ending with —er, —ir, —re), for example:
visite scolaire = school trip

on doit faire ses devoirs = you must do your homework

Va1 CANNOT sice crnlnire tn mean the ecchnnl hiiilding nn ne non¥ nac nrriver en refnrd = unu can’t arrive late




Reasons for fitness testing:

Before a training programme:

To identify strengths and areas for .
improvement .
Identify training requirements .
To show a starting level of fithess .

To motivate and provide goals

During and after a training programme:

Limitations of fitness testing:

s Tests are often general and not sport specific

To monitor improvement e The movement required in the test is not the same as in the actual activity

To provide variety to a training programme o Tests do not have competitive conditions required in sports

Compare results against norms of the group e  Some tests do not use direct measuring and are an estimate or are submaximal
To identify whether training has been e Some tests need motivation, because they are exhausting to complete
successful e Some tests questionable reliabili

Fitness Test Test Procedure _u_+:mmm ._.mm+ Test Procedure Fitness Test ._.mm._. _u_‘.onna:-.n
Multi stage o Measure out 20 metres Wall toss test | » Stand 2 meters away from a wall Sit-up e Lie on a mat, knees bent, feet on the floor.
fitness test « Place cones to mark the distance « Throw a tennis ball underarm against the wall bleep test your hands across your chest on shoulders
 Start the audio recording Run from one cone fo « Throw with the right hand and catch with the . « Start the audio recording
. the other until you cannot continue left hand; then alfernate hands » e Sit up until you can no longer continue
 Record result and compare to a rating chart » Record result and compare to a rating chart “NE « Record results and compare to a rating chart
Used by badminton and cricket 1363 Used by tennis and football players

Used by games players, long distence runners/swimmers

Fitness Test ._.aﬂ. ?onn&:.& Fitness Test ._.Nm.— vuonna:_.n

Fitness ._.nm.w ._.mm._. _vq.onmaE.m
Stork test « Place hands on your hips & foot on your knee Ruler drop « Stand with your hand open around the ruler, with Hand grip o Adjust the grip o your hand
— * Raise your heel from the ground so you are f B the 0 cm mark between thumb and forefinger dynamometer | * Keep your arm beside you at a right angle to
belancing on your toes e The assistant holds and drops the ruler your body
% o Time starts when you lift your heel \\hu \\anr o Catch the ruler as quick as possible e Squeeze the handle as hard as you can
» Record result and compare to a rating chart « Record results and compare to a rating chart « Record result and compare fo a rating chart
Used by gymnasts and games players Used by basketball, rugby, badminton players Used by performer such as climbers (to lift body weight)
Fitness Test Test Procedure Fitness Test Test Procedure Fitness Test Test Procedure
Illinois run o Set up the course as shown in the picture Sit and reach | ¢ Sit with your legs straight and the soles of your One rep ¢ Warm up
« Lie face down on the floor, by the first cone test feet flat against the box max » Lift the maximum weight you can in one
e On 'Go’ run around the course as fast as you can e o With palms face down, one hand on top of the : , attempt
¢ Record result and compare to a rating chart \ : other, stretch and reach as far as possible o Record result and compare to a rating chart
¢ Record result and compare to a rating chart

Fi ::wmm Test Test _uwonmaE.m

Used by vmzno:‘:m_,m m:nr as gymnasts and high divers Used by performers such as power lifters rugby players & boxers

P R e B IR Qualitative or quantitative data:
Fitness Test Test Procedure When collecting pieces of data for fitness tests they are

30m sprint o Measure and mark out 30 metres in a straight Vertical jump | ¢ Stand side onto the wall, feet flat on the floor usually quantitative meaning. The measurements can be

line

» On'Go’ run as fast as you can

o Place one cone at the start and one at the end

» Record result and compare to a rating chart

Mark the highest point that the tips of your quantified as numbers such: Time (seconds) Distance (meters)
fingertips can reach

Holding a piece of chalk, jump as high as you can
? ¢ Mark on the wall the top of your jump
et « Measure the distance between the 1" and 2™ are based on quality rather than quantity, such as a number out

Levels or numbers
Data can be collected qualitative meaning the measurements

Used by 100 m sprinters and rugby players

Used by sprinters, rugby players and long jumpers of 10 for a routine. They are opinions not facts.




Principles of training: SPORT Applying overload fo the F.L.T.T principle: Training intensities: oo
Specificity: Training must match the requirements of the Frequency: How often you train (should be gradually increased) Aerobic target zone: %%

activity so that the right muscles and body systems are adapted Week 1 = train once per week - Week 2 = train fwice per week 60% - 80% of max heart rate et -
Progression Overload: Gradudlly increasing the amount of Intensity: How hard you train (should be gradually increased) Anaerobic training zone:

s\oqu:m training so that fitness gains occur, but without the risk Week 1 = 1 set of 5 repetitions of a 5 kg weight - Week 2 = 2 sets 80% - 90% of max heart rate Aerchic | 70%

of ey . . . o of 5 repetitions of a 5 kg weight Max Heart rate: | son
QNMM_MW“W“Mﬂv\m.dfwnﬂwzﬂzmmm improves with fraining it can Time How _ozm you train (should Uw mwoacn__x increased) Week 1 = MNWNM.MMM SPower son

Tedium: This is the boredom that can occur when you frain the 20-minute session - Week 2 = 25-minute session high weight/low reps above 70% of 1 rep max (3 sets of 4/8 reps)
same way every time. A variety of training methods are needed to Type: Relates to specificity. training should closely match the Muscular endurance

keep motivated to carry on without giving up activity. E.g. A marathon runner should use continuous training low weight/high res below 70% of 1 rep max (3 sets of 12-15 reps)

Types of training:

Maximal intensity involving Form of inferval Training Stretch as far as you can.

Contains stations organised High infense exercise followed

Is sub-maxima! aerobic Form of continuous
i - NS in a circuit, they can be skill by periods of rest to recover Jjumping/bounding. It involves which involves reps and The stretch is held
exercise that has no training that varies in , . . . ] ) . :
breaks or rest. It lasts ace and terrain. Tt is or fitness based, aerobic or Usually anaerobic an eccentric contraction sets. The weight provides (isometric) for up to 30
fora 3_.23:} of 20 Uw} aerobic & ozmm1o_u.n anaerobic can be used in a variety of (muscle lengthens) the resistance. Can be seconds. It Can be done on
inut d . and can imbrove Intensity is measure by locations immediately followed by a done using free or fixed your owh, with apparatus
3.:.”_ es oz_ can _3_%9_6 cardiovascular M muscular circuits, time or repetitions. Improves speed but can concentric (muscle shortens) weights. It improves or with a partner.
cardiovascular & muscular endurance Can be adapted to improve improve strength and Improves power (speed & strength, power and Improves flexibility
endurance cardiovascular strength) muscular endurance

all types of fitness

No equipment or facilities mprove health

No equipment or facilities Variety of stations Can be used to i ors

. ; ) : . Can target specific areas
Has many health benefits Change of pace can be generates interest and fitness (aerobic & Develops power quickly of the bod Develops flexibili
(CHD) Can be done on your | more interesting Can be Can be skill or fitness anaerobic) No equipment 4 P Ty

No equipment needed

own done on your own

Can easily be adapted

Not as effective as other

ause injury with poor

. High intensity can be . ., : Canc
Boring . Equipment can be costly Can be repetitive and boring - . .
avoided . . Can cause injury due to high technigue a spotter stretchng metrhods and
No change of pace Can be time consuming to set | Need to plan and keep track of . . ; . .
. A A safe route may be hard intensity needed with free weights can take alog time to go
Can cause impact injuries up sets

to find

Can be expensive through all muscle groups

Most sports and activities

Usually for speed Basketball

Marathon running Fotball .
. Canb . g .
Cycling Rugby an be adapted to suif all It can be adapted to other Long jump Weight lifting, tennis benefit from static
sports {muscular endurance) stretching

il

Swimming Netball sports Hurdles

&
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Pre-season (preparation phase):

This is the period up to competition:

Training includes:

Develop techniques specific to the sport

General fitness fraining such as continuous, fartlek or
interval training sessions to increase aerobic fitness

e Weight training to build up strength and muscular endurance

Benefits:

Fitness and skill lost during post season can be regained

Skills and techniques can be improved. This means matches
at the start of the season are more successful

Competitive-season (peak):
This is the playing season

Training includes:

Taking part in matches every week

Maintenance of fitness related to activity

Limited training, as it may cause fatigue which would
decrease performance

Concentration on skills, set plays and tactics to improve

performance

Benefits:

Fitness levels and quality of performance can be maintained
throughout the season

Post-season (transition phase):

This is the period of rest, active recovery and light aerobic
work after the competitive season

Training includes:

Rest to recover from the competitive season
Light aerobic exercise, to maintain a level of general fitness

Benefits:

Athletes are fully rested, ready for pre-season
Not too much fitness is lost

Football Season:

July
Pre-season

(Preparation phase)

June
Post-season
(Transition phase)

August - May
Competitive season
(peak)

A warm-up has three phases:

Phase 1 Pulse raiser
To raise the heart rate and speed up oxygen delivery fo the working muscles.
E.g. jogging a lap of the pitch

Phase 2 Stretching
Stretching the muscles and soft tissues you are about to use increases their
elasticity and range of movement

Phase 3 Drills
These are more intense practices relating to the main session, such as dribbling
if you are playing basketball

. Increase Increase the
To increase
To physical oxvaen temperature of range of
and mentally <.m muscles, tendons, movement at
= delivery to | ) — ]
prepare for . and ligament. a joint which
the working g o
exercise Reducing the will aid
muscles o
chance of injury performance

Cool-down
A cool-down has two phases:

Phase 1 Light exercise
e.g. slow jogging at a much lower intensity you have been working

Phase 1 Stretching
Stretch the muscles you have used in the main activity

The Prevents Bring rmE..._, Helps avoid
and breathing o
removal of | muscle | +e slowl | dizziness Improves
lactic acid soreness Svm mx”s\ Y due to blood flexibility
and CO: DOMS ack o pooling
resting

A cool down is NOT designed to prevent injury it is to return the body to its resting levels
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@ 1] © Remember you are:
‘ « evaluating and analysing a live
theatre production
D + spending about 25 minutes

answering this section

+ choosing one of the two
options

« naming the performance, the
company and the location.

Remember: The questions can vary and
focus on the actor's use of
PHYSICAL SKILLS, VOCAL SKILLS,
INTERACTION, INTERPRETATION OF
CHARACTER.

PHYSICAL : , VOCAL | q CHARACTER
SKILLS: : 4 SKILLS: v , : INTERPRETATION:
seafd !
423 You will need to specify
how the actor interprets
the character through their use
of tone and vocal tempo, perhaps
accent, pitch, emphasis on words,
use of pauses to create tension,
pronunciation and constructiveness.
Choose a specific scene or two, and
discuss how the actor used the skills
to create and enrich the role. You can
refer to the character’s background,
age, status and motivation in this
particular part. You can refer to the
beginning, middle and end of a scene
of your choice and elaborate on the
skills associated with the voice.

You will need to specify

how the actor responds to
the rest of the actors on stage, the
distance and proximity between them
and what was the significance of this.
Was the actor moving deliberately

to suggest a feeling or emotion? The
actor may be using a series of facial
gestures and responses, e.g. folded
arms, eyes rolling, scrunched face,
walking back and forth, pointing or
back turned. Remember that the
impact of this on the rest of the
actors needs to be explained and how
this succeeded in causing tension,

a feeling or an emotion. What was

the impact of this on the audience?
Decide on specific examples from a
scene or two scenes - once again, it
depends on the question.

You will need to specify

how the actor interprets the
character through his use of gestures,
posture, walk, physical responses,
facial expressions, position on the
stage, special territories, stillness, use
of space, set and personal equipment
and props. To begin with, briefly
mention the character, background,
age, importance and social status
because all of this is dependent on
the actor’s interpretation of the role
he/she portrays. You can then specify
and give examples of how the actor
succeeded in physically conveying the
character in a'scene OR two scenes
of the production in question (read
the question carefully). You can give
examples from the beginning, middle
and end of the scene in order to
organise the answer.

4

in question will need to be
discussed in terms of age, social class, |}
intent and motivation, background
and their relationship with the rest of
the characters in the scene. Explain
how the actor used the physical skills
to interpret the role, then the vocal
skills and interaction skills. Stick to the
order of referring to the beginning,
middle and end of a scene or scenes
to organise your answer.

I

Sl

© Remember to use the
appropriate terms.

HESS

© Remember to use plenty of
terminology.

R TG

7

© Remember to use plenty of
terminology.
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JS Bach: Badinerie
- GCSE MUSIC

Form and structure:
The piece is in Binary form (AB).

Section A is 16 bars long.
Section B'is 24 bars long.
Each section is repeated (AABB).

Dynamics:
Mostly forte throughout, although no
markings appear on the score.

On some recordings, terraced dynamics
(sudden changes) are included.

Harmony:
Diatonic; mixture of root position and inverted chords;
uses V7 chords and a Neapolitan sixth chord.

Imperfect and perfect cadences are clearly presented
throughout, Both sections end with a perfect cadence.

Metre and rhythm:

Simple duple time - 2/4 - with two crotchet beats in
every bar.

Uses ostinato rhythms which form the basis of two

short musical ideas (X and Y), consisting almost totally of
quavers and semi-quavers.

Background details:

Composed by Johann Sebastian Bach (1685
- 1750), one of the main composers of the
Baroque era in music.

Badinerie is the last of seven movements from
a larger piece called Orchestral Suite No.2.

The piece was composed between 1738-1739.

Instrumentation:
Flute, string orchestra and harpsichord.

The score has five parts (flute, violin 1, violin 2, viola and
cello). The harpsichord player reads from the cello line
and plays the notes with their left hand whilst filling in the
chords with their right hand.

)

Both motifs begin with an anacrusis. Motif X is entirely disjunct
whilst motif Y combines disjunct and conjunct movement.

Typical ornaments and compositional devices of the period are
used including trills, appoggiaturas and sequences.

Tonality:

Section A begins in B minor (tonic) and ends in F* minor (dominant minor).

Section B begins in F* minor (dominant minor) and ends in B minor (tonic).

Section A modulates from B minor through A major before arriving at F* minor.

Section B modulates from F* minor through E minor, D major, G major and D major before arriving at B

Texture:
Homophonic: melody and accompaniment,

The flute and cello provide the main musical material; however, the 1
violin participates occasionally.

The 2™ violin and viola provide harmony with less busy musical lines.

Tempo:
The tempo is Allegro (quick, lively, bright), although not marked on
the score.




